B 1 (Official Form 1) (1/08)

United States Northern Dis Norther	Bankruptcy C trict of Alaba n Division	Court ama			Volum	itary I	Petition
Name of Debtor (if individual, enter Last, First, Middle): Tolplast Company, Inc.		Na	me of Joint D	ebtor (Spouse) (L	ast, First, Middle):		
All Other Names used by the Debtor in the last 8 years (include married, maiden, and trade names):	TT Confidence			used by the Join , maiden, and trac	t Debtor in the last 8 y le names):	rears	***************************************
Last four digits of Soc. Sec. or Indvidual-Taxpayer I.D. (I' more than one, state all): 63-1193637	ΓΙΝ) No./Complete EΓ	,	st four digits o		lvidual-Taxpayer I.D.	(ITIN) No	o./Complete EIN(if more
Street Address of Debtor (No. & Street, City, and State): 2741 Highway 231		Str	eet Address o	f Joint Debtor (N	o. & Street, City, and	State):	
Lacey's Spring, AL	CODE 3575	4				ZIP COI	DE
County of Residence or of the Principal Place of Busines Morgan	SS:	Co	unty of Reside	ence or of the Prin	scipal Place of Busine	ss:	
Mailing Address of Debtor (if different from street addre	ss):	Ma	ailing Address	of Joint Debtor (if different from street	t address):	
ZIF	CODE					ZIP COI	DE
Location of Principal Assets of Business Debtor (if differe 2741 Highway 231	nt from street address	above):				ZIP COI	DE 35754
Lacey's Spring, AL					CD		33734
Type of Debtor (Form of Organization)	(Check one box)	e of Busines	S		pter of Bankruptcy the Petition is Filed		
(Check one box.) Individual (includes Joint Debtors)	Health Care Br Single Asset R 11 U.S.C. § 10	leal Estate as	defined in	Chapter 7 Chapter 9	_	Recogniti	5 Petition for on of a Foreign
See Exhibit D on page 2 of this form. Corporation (includes LLC and LLP)	Railroad	(פוג)וי		Chapter 11		Main Proc Chapter 1	ceeding 5 Petition for
Partnership Other (If debtor is not one of the above entities,	Stockbroker Commodity Br	oker		Chapter 12	_	Recogniti	on of a Foreign Proceeding
check this box and state type of entity below.)	☐ Clearing Bank ☐ Other		ł	Chapter 13	Nature of		
		cempt Entit	·····	☐ Debts are j	(Check on primarily consumer	•	Debts are primarily
	(Check bo	x, if applicat	ole)	debts, defi	ned in 11 U.S.C. s "incurred by an		usiness debts.
	Debtor is a tax under Title 26 Code (the Inter	of the United	d States	individual	primarily for a amily, or house-		
Filing Fee (Check one box))		Check one		Chapter 11 Debto	ors	
Full Filing Fee attached			Debtor is a small business debtor as defined in 11 U.S.C. § 101(51D).				
Filing Fee to be paid in installments (applicable to in signed application for the court's consideration certification.			Debtor is not a small business debtor as defined in 11 U.S.C. § 101(51D). Check if:				
unable to pay fee except in installments. Rule 1006(b			Debtor's		ntingent liquidated de less than \$2,190,000.	bts (exclu	ding debts owed to
Filing Fee waiver requested (applicable to chapter 7 attach signed application for the court's consideration				pplicable boxes			
			A plan i	is being filed with ances of the plan			one or more classes
Statistical/Administrative Information					3,3,3,3,3	(-)/	THIS SPACE IS FOR COURT USE ONLY
 ☑ Debtor estimates that funds will be available for dist ☑ Debtor estimates that, after any exempt property is e expenses paid, there will be no funds available for dist 	xcluded and administr	rative					COURT USE ONLY
Estimated Number of Creditors		Q					
1- 50- 100- 200- 1,000- 49 99 199 999 5,000	5,001- 10,001- 10,000 25,000		50,001- 100,000	Over 100,000			
Estimated Assets				· · · · · · · · · · · · · · · · · · ·	r		
\$0 to \$50,001 to \$100,001 to \$500,001 to \$1,00 \$50,000 \$100,000 \$500,000 \$1 to \$16	0,001 \$10,000,001 5 to \$50	to \$100	\$100,000,00 to \$500	\$500,000,001 to \$1 billion	More than \$1 billion		_
Estimated Liabilities		million	million	["]	П		
\$0 to \$50,001 to \$100,001 to \$500,001 to \$1,000	0,001 \$10,000,001 \$	\$50,000,001 to \$100	\$100,000,00 to \$500	\$500,000,001			
\$50,000 \$100,000 \$500,000 \$1 to \$10 million million		million	million	to \$1 billion	\$1 billion		

Voluntary Petition (This page must be completed and filed in every case) Name of Debtor(s): Tolelest Company, Inc.				
		Tolplast Company, Inc.		
All Prior Bankruptcy Cases Filed Within Last 8 Years (If more than two, attach additional sheet.)				
Location Where Filed: NONE	Case Number:	Date Filed:		
Location Where Filed:	Case Number:	Date Filed:		
Pending Bankruptcy Case Filed by any Spouse, Part	ner or Affiliate of this Debtor (If more than one, attach a	dditional sheet)		
Name of Debtor: NONE	Case Number:	Date Filed:		
District:	Relationship:	Judge:		
Exhibit A (To be completed if debtor is required to file periodic reports (e.g., forms 10K at 10Q) with the Securities and Exchange Commission pursuant to Section 13 or 1 of the Securities Exchange Act of 1934 and is requesting relief under chapter 11	5(d) I, the attorney for the petitioner named in the forego have informed the petitioner that [he or she] may pr 12, or 13 of title 11, United States Code, and have e	(To be completed if debtor is an individual whose debts are primarily consumer debts) I, the attorney for the petitioner named in the foregoing petition, declare that I have informed the petitioner that [he or she] may proceed under chapter 7, 11, 12, or 13 of title 11, United States Code, and have explained the relief available under each such chapter. I further certify that I have delivered to the debtor the notice required by 11 U.S.C. § 342(b). X Not Applicable		
	Exhibit C			
Does the debtor own or have possession of any property that poses or is alleged Yes, and Exhibit C is attached and made a part of this petition. No	to pose a threat of imminent and identifiable harm to public l	nealth or safety?		
	Exhibit D			
(To be completed by every individual debtor. If a joint petition is filed, each spo	use must complete and attach a separate Exhibit D.)			
Exhibit D completed and signed by the debtor is attached and made a				
	part of this petition.			
If this is a joint petition:				
Exhibit D also completed and signed by the joint debtor is attached an	d made a part of this petition.			
	tegarding the Debtor - Venue ck any applicable box)			
-	al place of business, or principal assets in this District for 180	days immediately		
There is a bankruptcy case concerning debtor's affiliate. ge	neral partner, or partnership pending in this District.			
Debtor is a debtor in a foreign proceeding and has its principal place of business or principal assets in the United States in this District. or has no principal place of business or assets in the United States but is a defendant in an action or proceeding [in a federal or state court] in this District, or the interests of the parties will be served in regard to the relief sought in this District.				
Certification by a Debtor Who Resides as a Tenant of Residential Property (Check all applicable boxes.)				
Landlord has a judgment against the debtor for possession	of debtor's residence. (If box checked, complete the followin	g).		
(Name of landlord that obtained judgment)				
	(Address of landlord)			
	ere are circumstances under which the debtor would be perm cossession, after the judgment for possession was entered, an			
Debtor has included in this petition the deposit with the court of any rent that would become due during the 30-day period after the filing of the petition.				
Debtor certifies that he/she has served the Landlord with this certification. (11 U.S.C. § 362(1)).				

	, 6		
Voluntary Petition	Name of Debtor(s):		
(This page must be completed and filed in every case)	Tolplast Company, Inc.		
Sign	atures		
Signature(s) of Debtor(s) (Individual/Joint)	Signature of a Foreign Representative		
Signature(s) of Debtor(s) (Individual/Joint) I declare under penalty of perjury that the information provided in this petition is true and correct. [If petitioner is an individual whose debts are primarily consumer debts and has chosen to file under chapter 7. It am aware that I may proceed under chapter 7, 11, 12 or 13 of title 11, United States Code, understand the relief available under each such chapter, and choose to proceed under chapter 7. [If no attorney represents me and no bankruptcy petition preparer signs the petition] I have obtained and read the notice required by 11 U.S.C. § 342(b). I request relief in accordance with the chapter of title 11, United States Code, specified in this petition. X Not Applicable Signature of Debtor X Not Applicable Signature of Joint Debtor	Signature of a Foreign Representative I declare under penalty of perjury that the information provided in this petition is true and correct, that I am the foreign representative of a debtor in a foreign proceeding, and that I am authorized to file this petition. (Check only one box.) I request relief in accordance with chapter 15 of Title 11, United States Code. Certified Copies of the documents required by § 1515 of title 11 are attached. Pursuant to 11 U.S.C. § 1511, I request relief in accordance with the Chapter of title 11 specified in the petition. A certified copy of the order granting recognition of the foreign main proceeding is attached. X Not Applicable (Signature of Foreign Representative)		
Telephone Number (If not represented by attorney)	Date		
Signature of Attorney X /s/ William L. Chenault, III Signature of Attorney for Debtor(s) William L. Chenault, III Bar No. ASB-9922-T83W Printed Name of Attorney for Debtor(s) / Bar No. Chenault Hammond, P.C. Firm Name PO Box 1906 Decatur, AL 35602-1906 Address Decatur, Alabama 35602-1906 256-353-7031 Telephone Number 06/23/2010 Date *In a case in which § 707(b)(4)(D) applies, this signature also constitutes a certification that the attorney has no knowledge after an inquiry that the information in the schedules is incorrect. Signature of Debtor (Corporation/Partnership)	Signature of Non-Attorney Petition Preparer I declare under penalty of perjury that: (1) I am a bankruptcy petition preparer as defined in 11 U.S.C. § 110; (2) I prepared this document for compensation and have provided the debtor with a copy of this document and the notices and information required under 11 U.S.C. §§ 110(b), 110(h), and 342(b); and, (3) if rules or guidelines have been promulgated pursuant to 11 U.S.C. § 110(h) setting a maximum fee for services chargeable by bankruptcy petition preparers, I have given the debtor notice of the maximum amount before preparing any document for filing for a debtor or accepting any fee from the debtor, as required in that section. Official Form 19 is attached. Not Applicable Printed Name and title, if any, of Bankruptcy Petition Preparer Social-Security number (If the bankruptcy petition preparer is not an individual, state the Social-Security number of the officer, principal, responsible person or partner of the bankruptcy petition preparer.) (Required by 11 U.S.C. § 110.) Address X Not Applicable		
I declare under penalty of perjury that the information provided in this petition is true and correct, and that I have been authorized to file this petition on behalf of the debtor. The debtor requests the relief in accordance with the chapter of title 11, United States Code, specified in this petition. X /s/ Dominic C. Tolomei Signature of Authorized Individual Dominic C. Tolomei Printed Name of Authorized Individual President Title of Authorized Individual 06/23/2010 Date	Date Signature of bankruptcy petition preparer or officer, principal, responsible person, or partner whose Social-Security number is provided above. Names and Social-Security numbers of all other individuals who prepared or assisted in preparing this document unless the bankruptcy petition preparer is not an individual. If more than one person prepared this document, attach to the appropriate official form for each person. A bankruptcy petition preparer's failure to comply with the provisions of title 11 and the Federal Rules of Bankruptcy Procedure may result in fines or imprisonment or both. 11 U.S.C. § 110; 18 U.S.C. § 156.		

UNITED STATES BANKRUPTCY COURT Northern District of Alabama Northern Division

n re:	Tolplast Company, Inc.		9	Case No.	
		Debtor		Chapter	4.1

		2000		•
	Ext	ibit "A" to Volu	untary Petition	1
1.	If any of debtor's securities are registe number is .	red under section 12 of the Sec	curities and Exchange Act of	1934, the SEC file
2.	The following financial data is the late	st available information and ref	ers to debtor's condition on .	
a.	Total assets		\$	1,115,707.00
b.	Total debts (including debts listed in 2	.c., below)	\$	1,329,345.97
				Approximate number of holders
C.	Debt securities held by more than 500	holders.		
	secured unsecured	subordinated		
d.	Number of shares of preferred stock	_		
e.	Number of shares of common stock			***************************************
	Comments, if any:			
3.	Brief description of debtor's business:			
	7			
4.	List the name of any person who direct voting securities of debtor:	tly or indirectly owns, controls,	or holds, with power to vote,	5% or more of the

voting securities of debtor:

UNITED STATES BANKRUPTCY COURT Northern District of Alabama Northern Division

Exhibit "C"

[If, to the best of the debtor's knowledge, the debtor owns or has possession of property that poses or is alleged to pose a threat of imminent and identifiable harm to the public health or safety, attach this Exhibit "C" to the petition.]

In re:	Case No.:	
Tolplast Company, Inc. Debtor(s)	Chapter:	11
Exhibit "C" to Voluntary Petition		
Identify and briefly describe all real or personal property owned by the debtor that, to the best of the debtor's knowledge, poses or is alleged to poimminent and identifiable harm to the public health or safety (attach additional).	se a threat of	
N/A		
2. With respect to each parcel of real property or item of personal proquestion 1, describe the nature and location of the dangerous condition, wheth or otherwise, that poses or is alleged to pose a threat of imminent and identifial public health or safety (attach additional sheets if necessary):	er environmental	
N/A		

United States Bankruptcy Court

Northern District of Alabama Northern Division

In re:	Case No.	4.4
	Chapter	11
Tolplast Company, Inc.		
STATEMENT REGARDING AUTHORITY TO SIGN AND	FILE P	ETITION
I, Dominic C. Tolomei, declare under penalty of perjury that I am the President of Tolplast Con and that on 06/23/2010 the following resolution was duly adopted by the Dominic C. Tolomei of this		
"Whereas, it is in the best interest of this Corporation to file a voluntary petition in the United Bankruptcy Court pursuant to Chapter 11 of Title 11 of the United States Code;	States	
Be It Therefore Resolved, that Dominic C. Tolomei, President of this Corporation, is authorize all documents necessary to perfect the filing of a Chapter 11 voluntary bankruptcy case on behalf		
Be It Further Resolved, that Dominic C. Tolomei, President of this Corporation, is authorized a bankruptcy proceedings on behalf of the Corporation, and to otherwise do and perform all acts ar all necessary documents on behalf of the Corporation in connection with such bankruptcy case; a	id deeds ar	
Be It Further Resolved, that Dominic C. Tolomei, President of this Corporation, is authorized Chenault, III, attorney and the law firm of Chenault Hammond, P.C. to represent the Corporation in		

Signed:

/s/ Dominic C. Tolomei

Dominic C. Tolomei

Executed on: <u>06/23/2010</u>

B6A (Office	cial Form	6A) (12/07)	ı
-------------	-----------	-------------	---

In re:	Tolplast Company, Inc.	Case No.
	Debtor	(if known)

SCHEDULE A - REAL PROPERTY

DESCRIPTION AND LOCATION OF PROPERTY	NATURE OF DEBTOR'S INTEREST IN PROPERTY	HUSBAND, WIFE, JOINT OR COMMUNITY	CURRENT VALUE OF DEBTOR'S INTEREST IN PROPERTY, WITHOUT DEDUCTING ANY SECURED CLAIM OR EXEMPTION	AMOUNT OF SECURED CLAIM
	Total	>	0.00	

(Report also on Summary of Schedules.)

In re	Tolplast	Company,	Inc
-------	----------	----------	-----

Case No.	
	(If known)

Debtor

SCHEDULE B - PERSONAL PROPERTY

TYPE OF PROPERTY	NONE	DESCRIPTION AND LOCATION OF PROPERTY	HUSBAND, WIFE, JOINT OR COMMUNITY	CURRENT VALUE OF DEBTOR'S INTEREST IN PROPERTY, WITH- OUT DEDUCTING ANY SECURED CLAIM OR EXEMPTION
1. Cash on hand	Х			
Checking, savings or other financial accounts, certificates of deposit, or shares in banks, savings and loan, thrift, building and loan, and homestead associations, or credit unions, brokerage houses, or cooperatives.		Peoples Bank, AL Hwy 231 South, Lacey's Spring, AL 35754 Checking Account # 2000011501		18,000.00
Checking, savings or other financial accounts, certificates of deposit, or shares in banks, savings and loan, thrift, building and loan, and homestead associations, or credit unions, brokerage houses, or cooperatives.		Wachovia Bank, National Association checking account # 2000654537891		280.00
Security deposits with public utilities, telephone companies, landlords, and others.	х			
Household goods and furnishings, including audio, video, and computer equipment.	х			
Books, pictures and other art objects, antiques, stamp, coin, record, tape, compact disc, and other collections or collectibles.	x			
6, Wearing apparel.	Х			
7, Furs and jewelry.	Х			
8. Firearms and sports, photographic, and other hobby equipment.	х			
Interests in insurance policies. Name insurance company of each policy and itemize surrender or refund value of each.	Х			
10. Annuities. Itemize and name each issuer.	х			
11. Interests in an education IRA as defined in 26 U.S.C. § 530(b)(1) or under a qualified State tuition plan as defined in 26 U.S.C. § 529(b)(1). Give particulars. (File separately the record(s) of any such interest(s). 11 U.S.C. § 521(c).)	Х			
 Interests in IRA, ERISA, Keogh, or other pension or profit sharing plans. Give particulars. 	х			
Stock and interests in incorporated and unincorporated businesses. Itemize.	Х			
14, Interests in partnerships or joint ventures. Itemize.	х			
15. Government and corporate bonds and other negotiable and nonnegotiable instruments.	х			
16. Accounts receivable.	Х			

In re	Tol	olast	Com	nanv.	Inc.
	1 01	JIOGL	COLL	μαιιγ,	1110.

	Case No.	
Debtor		(If known)

SCHEDULE B - PERSONAL PROPERTY (Continuation Sheet)

	· · · · · · · · · · · · · · · · · · ·			
TYPE OF PROPERTY	NONE	DESCRIPTION AND LOCATION OF PROPERTY	HUSBAND, WIFE, JOINT OR COMMUNITY	CURRENT VALUE OF DEBTOR'S INTEREST IN PROPERTY, WITH- OUT DEDUCTING ANY SECURED CLAIM OR EXEMPTION
17. Alimony, maintenance, support, and property settlements to which the debtor is or may be entitled. Give particulars.	Х			
18. Other liquidated debts owed to debtor including tax refunds. Give particulars.	Х			
Equitable or future interests, life estates, and rights or powers exercisable for the benefit of the debtor other than those listed in Schedule A - Real Property.	х			
20. Contingent and noncontingent interests in estate of a decedent, death benefit plan, life insurance policy, or trust.	Х			
21. Other contingent and unliquidated claims of every nature, including tax refunds, counterclaims of the debtor, and rights to setoff claims. Give estimated value of each.	X			
22. Patents, copyrights, and other intellectual property. Give particulars.	Х			
 23. Licenses, franchises, and other general intangibles. Give particulars. 	Х			
24. Customer lists or other compilations containing personally identifiable information (as defined in 11 U.S.C. § 101(41A)) provided to the debtor by individuals in connection with obtaining a product or service from the debtor primarily for personal, family, or household purposes.		Business Customer List		15,000.00
25. Automobiles, trucks, trailers, and other vehicles and accessories.		2000 Ford F-650 Truck		12,500.00
Automobiles, trucks, trailers, and other vehicles and accessories.	·	2005 Chevrolet Tahoe		13,000.00
Automobiles, trucks, trailers, and other vehicles and accessories.		2006 Chevrolet Silverado Pickup Truck		4,500.00
Automobiles, trucks, trailers, and other vehicles and accessories.		2006 Ford F-350 Truck		13,000.00
Automobiles, trucks, trailers, and other vehicles and accessories.		Lone Wolf 6' x 21' Trailer		1,000.00
Automobiles, trucks, trailers, and other vehicles and accessories.		Trailer 15'		2,750.00
26. Boats, motors, and accessories.	Х			
27, Aircraft and accessories.	Х			
28. Office equipment, furnishings, and supplies.	Х			
29. Machinery, fixtures, equipment and supplies used in business.		See Attached Schedule of Equipment as of June 15, 2010 See Attached Schedule of Inventory as of June 15, 2010		612,535.00

B6B	(Official	Form	6B)	(12/07)) Cont.
-----	-----------	------	-----	---------	---------

In re	Tolplast Company, Inc.	Case No.
	Debtor	(if known)

SCHEDULE B - PERSONAL PROPERTY (Continuation Sheet)

TYPE OF PROPERTY	NONE	DESCRIPTION AND LOCATION OF PROPERTY	HUSBAND, WIFE, JOINT OR COMMUNITY	CURRENT VALUE OF DEBTOR'S INTEREST IN PROPERTY, WITH- OUT DEDUCTING ANY SECURED CLAIM OR EXEMPTION
30, Inventory.		See Attached Schedule of Inventory as of June 15, 2010		423,142.00
31. Animals.	Х			
32. Crops - growing or harvested. Give particulars.	х			
33, Farming equipment and implements.	Х			
34, Farm supplies, chemicals, and feed.	Х			
35. Other personal property of any kind not already listed. Itemize.	х			
		2 continuation sheets attached Tot	al >	\$1,115,707.00

(Include amounts from any continuation sheets attached. Report total also on Summary of Schedules.)

Tolplast Company, Inc. Capitalized Equipment Schedule As of June 15, 2010

1997/1900 1998/1900 1999						:		Accum	
1969/1970 1970 1970	Date	Num	Name	Memo	Class Div.	Life	Purchase Price	@	Book Value 12/31/10
Compage Comp	- 1 (00 (00		-1		1 N-i-1 (XC)	40	750.00		206.25
1979/1979 19				=					3,000.00
Mindre									270.05
					-				8,072.02
1.0.165/1006 1.0.165				-			-		54,812.70
Displaying 172									5,490.62
1.178/journ Control Opening Belfance Gravel and Lot Prep			•					1,032.24	4,352.76
20/23/98 Account Opening Balance Garde Less Hold larg NP 15 2,500.00 2,500.00						10			5,361.74
20/25/98 Account Opening Staince Accou			Account Opening Balance	Gravel	Lease Hold Imp TVP	15	2,500.00	2,500.00	0.00
10/09/07 14/411 Warehouse Explanent & Supple shehing for warehouse Lases Hold for PP 10 1.599.58 1.384.20 2.000/08/94 Account Opening Balance Banding Equipment Mach & Equip 170 7 4.02.00				Rock for Pad	Lease Hold Imp TVP	15	1,864.00	1,426.32	437.68
			Warehouse Equipment & Supply	shelving for warehouse	Lease Hold Imp TVP	10	1,589.98	1,334.20	255.78
0,701/1966 Account Opening Balance 0,700 of 1,700	01/20/04	1419	Current Electrical Services	3 phase power for warehouse	Lease Hold Imp TVP	10	7,200.00	4,365.06	2,834.94
0,115,159			Account Opening Balance	Banding Equipment	Mach & Equip TCI	7	442.00	442.00	0.00
0.731/979	02/01/96		Account Opening Balance	Sk-SC Extrusion Welder	Mach & Equip TCI	5	4,650.00	4,650.00	0.00
	06/18/96		Account Opening Balance	Wirlpool Air Conditioner	Mach & Equip TCI	7	542.00	542.00	0.00
Sept 1966 Sept 1977 7 2,921.20 Sept Se	01/31/97		Account Opening Balance	APT Show Display	Mach & Equip TCI	7	2,090,00	2,090.00	0.00
50/50/19/88 Account Opening Behance Equipment - Lowes Mark & Equip 170 7 2,082.00	09/01/97		Account Opening Balance	Load Dock	Mach & Equip TCI	7	567.00	567.00	0,00
	05/01/98		Account Opening Balance	Routing Equipment	Mach & Equip TVP	7	2,931.00		
06/05/958	05/01/98		Account Opening Balance	Equipment - Associates	Mach & Equip TVP	7	2,042.00		
March Regular No. 18,266.00 18,266	05/04/98		Account Opening Balance	Equipment - Lowes	Mach & Equip TVP	7	1,958.00		
13/15/98 Account Opening Balance Additional Basis Hyster Lift Mach & Equip TC 7 8,266.00 882.00	06/03/98		Account Opening Balance	Hitachi Miter Saw	Mach & Equip TCI	7	645.00	645.00	0.00
O/IL/19/29 Account Opening Balance Additional Basis Hyster Lift Mach & Equip TCL 7 8.8.2.00 8.2.00	06/04/98		Account Opening Balance	Hitachi Mitre Saw	Mach & Equip TVP	7	676.00		
	12/15/98		Account Opening Balance	Hyster Lift	Mach & Equip TC!	7	18,266.00	18,266.00	(0.00)
	01/15/99		Account Opening Balance	Additional Basis Hyster Lift	Mach & Equip TCI	7	882.00	882.00	0.00
66/23/99 Account Opening Balance Various Small Tools Mach & Equip TC S 563.00 635.00 696/28/99 Account Opening Balance Control Con	04/08/99		Account Opening Balance	Notcher	Mach & Equip TVP	5	1,800.00		
66/72/8/9 Account Opening Balance Sand Saw Mach & Equip TC S 269.00 C6/72/8/9 Account Opening Balance Account Opening Balance Account Opening Balance Mach & Equip TVP S 303.00 C6/72/8/9 Account Opening Balance Mach & Equip TVP S 303.00 C6/72/8/9 Account Opening Balance Account Opening B	06/03/99		Account Opening Salance	Christie Fusion Heater Plate	Mach & Equip TCI	5	1,458.00	1,458.00	0.00
			Account Opening Balance	Various Small Tools	Mach & Equip TCi	5	635.00	635.00	0.00
	06/28/99		Account Opening Balance	Band Saw	Mach & Equip TCI	5	269,00	269.00	0.00
10023299 August				2 Generators	Mach & Equip TCI	5	1,164.00	1,164.00	00,0
0.717/10 Feb	06/28/99		Account Opening Balance	Hitachl Saw	Mach & Equip TVP	5	303.00		
	08/23/99	August	SouthTrust Bank VISA	Manual Router	Mach & Equip TVP	10	2,600.00		
0,111700 Mar LOWES Compressor SHP Mach & Equip TCL 5 366.12 366.12 0,00500 1474 Lowes March & Equip TCL 5 366.12 366.12 0,00500 1473 Tractor Supply Co. Compressor Mach & Equip TVP 10 473.04 473.00 0,00500 1473 Tractor Supply Co. Compressor Mach & Equip TVP 10 473.04 473.00 0,00500 1473 Tractor Supply Co. Compressor Mach & Equip TVP 10 4,250.38 406.09 0,01500 009362 Dares Industrial Corp Sharpener Mach & Equip TVP 10 2,252.50 2,177.07 0,012/10/10 1898 LOWES Pressure washer Mach & Equip TVP 10 2,252.50 2,177.07 0,012/20/10 Aug STBC Variable Speed Wood Lathe (listed as drill Mach & Equip TVP 10 2,252.50 225.00 0,012/20/10 Aug STBC 12 Pr. Chest Mach & Equip TVP 10 2,252.50 225.00 0,012/20/10 Aug STBC 12 Pr. Chest Mach & Equip TVP 10 2,252.50 225.00 0,012/20/10 Aug STBC 3 Pr. Cabinet Mach & Equip TVP 10 522.23 456.70 0,012/20/10 Aug STBC 3 Pr. Cabinet Mach & Equip TVP 10 532.23 456.70 0,012/20/10 Aug STBC 3 Pr. Cabinet Mach & Equip TVP 10 532.23 456.70 0,012/20/10 Aug STBC 3 STBC 3 STBC 3 STBC 4 Mach & Equip TVP 10 532.23 456.70 0,012/20/10 Aug STBC 3 STBC 4 Mach & Equip TVP 10 532.23 456.70 0,012/20/20 Aug STBC 3 STBC 4 Mach & Equip TVP 10 655.00 205.00 0,012/20/20 Aug STBC 3 STBC 4 Mach & Equip TVP 10 655.00 0,012/20/20 Aug STBC 4 Mach & Equip TVP 10 655.00 0,012/20/20 Aug STBC 4 Mach & Equip TVP 10 655.00 0,012/20/20 Aug STBC 4 Mach & Equip TVP 10 655.00 0,012/20/20 Aug 5 TBC 4 Mach & Equip TVP 7 3 12.12 3 12.12 0,012/20/20 Aug 5 TBC 4 Mach & Equip TVP 7 4 Mach & Equip	02/17/00	Feb	Lowes	Drift	Mach & Equip TVP	7	199.00		
19/23 19 2008 Patric Welling Technologies used extrusion welder + Freight Mach & Equip TV 10 406.38 406.09	03/09/00	320661	Plastic Welding Technologies	Spark Tester 110V	Mach & Equip TCI	7	246.75	246.75	0.00
Ge/Ge/Ge/D 1474 Lowes	03/17/00	Mar	LOWES	Compressor SHP	Mach & Equip TCI	5	366.12	356.12	0.00
OSIGNED 1473 Tractor Supply Co. Compressor Mach & Equip TVP 10 466.36 406.09	03/23/00	320808	Plastic Welding Technologies	used extrusion welder + Freight	Mach & Equip TCI	5	682.59	682.59	0.00
05/05/00 1473 Tractor Supply Co. Compressor Mach & Equip TVP 0 406.35 406.09	06/06/00	1474	Lowes	fans (2)	Mach & Equip TVP	10	473.04	473.00	0.04
06/13/60 Dane SouthTrust Bank VISA 7 Routers/Makita Mach & Equip TVP 10 1,698.83 1,655.08			Tractor Supply Co.	Compressor	Mach & Equip TVP	10	406.36	406.09	0.27
1,001/100 1898 LOWES				(7) Routers/Makita	Mach & Equip TVP	10	1,669.83	1,656.04	13.79
10/01/10/0 1898	09/18/00	009362	Darex Industrial Corp	sharpener	Mach & Equip TVP	10	2,252.50	2,177.07	75.43
Section Sect	10/01/00	1898	LOWES	pressure washer	Mach & Equip TCI	7	437.00	437.00	0.00
19/23/01 Aug STBC SDW Cabinet Mach & Equip TCI 7 225.00 225.00 (8)/23/01 Aug STBC 3 Fans Mach & Equip TCI 7 1,019.85 1	08/23/01	Aug	STBC	Variable Speed Wood Lathe (listed as drill	Mach & Equip TCI	7	265.00	265.00	0.00
08/23/01 Aug STBC 3 Fans Mach & Equip TCI 7 1,013.85 1,019.85 10/11/10 Oct 10wes work tables for new location Misch & Equip TCI 7 357.11 357.11 11/14/01 32062 Mike's Merchandise shehing Mach & Equip TCI 7 357.11 357.11 11/14/01 32062 Mike's Merchandise shehing Mach & Equip TCI 7 357.11 357.11 11/14/01 32062 Mike's Merchandise shehing Mach & Equip TCI 7 357.11 357.11 11/14/01 32062 Mike's Merchandise shehing Mach & Equip TCI 7 2 883.79 280.79 14/13/02 April MER's Merchandise Mach & Equip TCI 7 2 887.09 280.79 14/13/02 April MER's MER's Merchandise Mach & Equip TCI 7 487.08 487.08 487.08 14/13/04 April MER's Merchandise Mach & Equip TCI 7 4 887.08 487.08 14/13/04 April MER's Merchandise Mach & Equip TCI 7 4 887.08 487.08 14/13/04 April Merchandise Mach & Equip TCI 7 4 887.08 487.08 14/13/04 April SouthTrust Bank VISA Saw Mach & Equip TCI 7 2 15.98 215.98 1215.98 1215.98 1215.98 1215.98 1215.98 1215.98 1215.99 1215.00 14/13/03 April SouthTrust Bank VISA compressor Mach & Equip TCI 7 2 15.98 1215.99 1215.00 14/13/03 April SouthTrust Bank VISA compressor Mach & Equip TCI 7 2,115.00 2,915.00 2,915.00 14/13/03 June STBC Box Mach & Equip TCI 7 2,115.00 2,915.00 2,915.00 14/13/03 June STBC Box Mach & Equip TCI 7 2,115.19 1,193.79 11/13/03 June STBC Box Mach & Equip TCI 7 3 82,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 382,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 3 82,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 3 82,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 3 82,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 3 82,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 3 82,000.00 35,933.73 2,211/13/04 Box Mach & Equip TCI 7 4 82,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00 1,991.91 74 74,000.00	08/23/01	Aug	STBC	12 Dr Chest	Mach & Equip TCI	7	199.95	199.95	(0.00)
10/17/10 Code Cowes Circular Saw 10 1/4" Mach & Equip TVP 10 532.23 455.70 11/2/01 130.002 Milke's Merchandise Shehing Mach & Equip TVP 10 695.50 559.68 11/2/3/02 Jan STEC Sis ma camera Mach & Equip TVP 7 280.79 280.79 11/2/3/02 Jan STEC Sis ma camera Mach & Equip TVP 7 280.79 280.79 11/2/3/02 Jan STEC Sis ma camera Mach & Equip TVP 7 646.90 646.90 11/12/02 Nov Lowes Hammerdrill Mach & Equip TVP 7 312.12 12/15/02 Nov Lowes Hammerdrill Mach & Equip TVP 7 312.12 12/15/02 Nov Lowes Hammerdrill Mach & Equip TVP 7 312.12 12/15/02 Nov Lowes STEC Lap & Gale set and crane/small tools Mach & Equip TVP 7 312.12 12/15/02 Nov Lowes STEC Lap & Gale set and crane/small tools Mach & Equip TVP 7 312.12 12/15/02 Nov Lowes Tractor - Barnett Tractor Co. Mach & Equip TVP 7 488.06 488.06 488.06 14/15/03 NoFV Tractor - Barnett Tractor Co. Mach & Equip TVP 7 291.50	08/23/01	Aug	STBC	5 Drw Cabinet	Mach & Equip TCI	7	225.00	225.00	0.00
10/11/01 Oct	08/23/01	Aug	STBC	3 Fans	Mach & Equip TCI	7	1,019.85	1,019.85	(0.00)
12/14/01 32062 Mike's Merchandise Shehing Mach & Equip TV 10 695.50 590.88 10 12/14/02 Jan STBC 35 mm camera Mach & Equip TC 7 280.79 280.	10/17/01	Oct	Lowes	work tables for new location	Mach & Equip TVP	10	532.23	456.70	75.53
01/23/02 Jan STBC 35 mm camera Mach & Equip TCI 7 280.79 280.79 04/11/02 April AMEX digital camera Mach & Equip TCI 7 487.08 487.08 07/23/02 285 SouthTrust Bank VISA Saw Mach & Equip TVP 7 646.39 646.99 11/18/02 Nov Lowes Hammerdrill Mach & Equip TVP 7 468.59 646.99 04/23/03 April SouthTrust Bank VISA compressor Mach & Equip TCI 7 215.98 215.98 215.98 06/23/03 June STBC Box Blade for Tractor Mach & Equip TCI 7 249.44 246.19 11/11/10/10 21/11/10/10 247.54 <td>11/20/01</td> <td>080-77430</td> <td>NOFV</td> <td>Circular Saw 10 1/4"</td> <td>Mach & Equip TCI</td> <td>7</td> <td>357.11</td> <td>357.11</td> <td>0.00</td>	11/20/01	080-77430	NOFV	Circular Saw 10 1/4"	Mach & Equip TCI	7	357.11	357.11	0.00
CA/11/02 April	12/14/01	32062	Mike's Merchandise	shelving	Mach & Equip TVP	10	695.50	590.88	104.62
07/23/02 285 SouthTrust Bank VISA Saw Mach & Equip TVP 7 646.90 646.90 11/18/02 Nov Lowes Hammerdrill Mach & Equip TVP 7 312.12 312.2 22.2 10/31/01 40.2 40	01/23/02	Jan	STBC	35 mm camera	Mach & Equip TCI	7	280.79	280.79	0.00
11/18/02 Nov Lowes Hammerdrill Mach & Equip TVP 7 312.12 312.12 12/25/02 Dec STBC tap & die set and crane/small tools Mach & Equip TVP 7 408.06 408.06 40/23/03 April SouthTrust Bank VISA compressor Mach & Equip TCI 7 2.515.98 215.98 40/23/03 2683 NOFV Tractor - Barnett Tractor Co. Mach & Equip TCI 7 2.915.00 2.915.00 106/25/03 June STBC Box Blade for Tractor Mach & Equip TCI 7 2.49.44 246.19 11/10/03 1394 Hornbuckle Equipment, Inc. 16 Steel Bed Traiter s/n APT/UB16293F00318: Mach & Equip TCI 7 2.49.44 246.19 11/10/03 1304 SSD Control Technology, Inc. 16 Steel Bed Traiter s/n APT/UB16293F00318: Mach & Equip TCI 7 2.49.44 246.19 11/30/03 1106 SSD Control Technology, Inc. 10/21/04 1296 24° Band Saw Mach & Equip TCI 7 17,000.00 13,559.51 3,4 11/30/04 Business Card Heater Mach & Equip TCI 7 17,000.00 13,559.51 3,4 11/30/04 Business Card Heater Mach & Equip TCI 7 17,000.00 13,559.51 3,4 11/30/05 5588.4505 Business Card weelder Mach & Equip TCI 7 2,743.07 1,991.97 7 44/22/05 6003 NOFV drill Mach & Equip TCI 7 2,743.07 1,991.97 7 44/22/05 6003 NOFV drill Mach & Equip TCI 7 2,743.07 1,991.97 7 44/22/05 6004 NOFV drill Mach & Equip TCI 7 2,200.00 1,597.62 604/22/05 6004 NOFV drill press Mach & Equip TCI 7 2,200.00 1,597.62 604/22/05 6004 NOFV drill press Mach & Equip TCI 7 4,486.19 3,116.99 1.30 8/11/05 5588.4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 4,486.19 3,116.99 1.30 8/11/05 5588.4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 4,486.19 3,116.99 1.30 8/11/05 5588.4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 4,486.19 3,116.99 1.30 8/11/05 5588.4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 4,486.19 3,116.99 1.30 8/11/05 5588.4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 4,486.19 3,116.90 1.30 8/11/05 5588.4505 Business Card Alr Compressor Business Card Alr Compressor Mach & Equip TCI 7 5,000.00 333.73 1.30 8/11/05 5588.4505 Business Card Alr Compressor Damp Mach & Equip TCI 7 5,000.00 334.53 1.31 8/11/05 55816 PATTERSON Hole Saw 8.625" Dia listed as o	04/11/02	April	AMEX	digital camera	Mach & Equip TCI	7	487.08	487.08	0.00
12/25/02 Dec STBC tap & die set and crane/small tools Mach & Equip TCI 7 215.98 215.99 216.08 225.95 215.91 215.91 215.91 215.91 215.91 215.91 215.91 215.91 215.91 215.91 215.91 215.93 215.93 215.93 215.93 215.93 215.93 215.93 215.93 215.93 215.93 226.03 227.93	07/23/02	285	SouthTrust Bank ViSA	Saw	Mach & Equip TVP	7	646.90	646.90	0.00
04/23/03 April SouthTrust Bank VISA compressor Mach & Equip TVP 7 408.06 64.06 Compressor Mach & Equip TCI 7 2,915.00 2,915.00 Compressor Mach & Equip TCI 7 2,915.00 2,915.00 Compressor Mach & Equip TCI 7 2,915.00 3,939.37 2,21 1,119.00 1,109.00 2,715.00 3,529.51 3,529.51 3,529.51 3,529.51 3,529.51 3,529.51 3,529.51 3,239.50 1,113.00 4,000.00 2,714.00 3,529.51 3,239.51 2,113.00 4,000.00 2,743.00 1,529.50 3,239.50 2,000.00 3,529.51 3,239.50 2,000.00 3,529.51 3,239.50 2,000.00 3,729.50 3,239.50 2,000.00 </td <td>11/18/02</td> <td>Nov</td> <td>Lowes</td> <td>Hammerdrill</td> <td>Mach & Equip TVP</td> <td>7</td> <td>312.12</td> <td>312.12</td> <td>(0.00)</td>	11/18/02	Nov	Lowes	Hammerdrill	Mach & Equip TVP	7	312.12	312.12	(0.00)
06/03/03 2883 NOFV Tractor - Barnelt Tractor Co. Mach & Equip TCI 7 2,915.00 <t< td=""><td>12/25/02</td><td>Dec</td><td>STBC</td><td>tap & die set and crane/small tools</td><td>Mach & Equip TCI</td><td>7</td><td>215.98</td><td>215.98</td><td>(0.00)</td></t<>	12/25/02	Dec	STBC	tap & die set and crane/small tools	Mach & Equip TCI	7	215.98	215.98	(0.00)
06/25/03 June STBC Box Blade for Tractor Mach & Equip TCI 7 249.44 246.19 11/10/03 1394 Hornbuckle Equipment, Inc. 16' Steel Bed Trailer s/n AP7U816293F00318' Mach & Equip TVP 7 2,115.19 1,989.29 1,198.29 1,193.09 35,933.73 2,2 10/31/04 1296 SSD Control Technology, Inc., CNC ROUTERH Extension Package Mach & Equip TVP 7 38,208.00 35,933.73 2,2 10/31/04 1296 Welder Mach & Equip TCI 7 17,000.00 13,559.51 3,4 11/30/04 Business Card Heater Mach & Equip TCI 7 319.93 239.95 7 04/19/05 5588 4505 Business Card Welder Mach & Equip TCI 7 319.93 239.95 7 04/19/05 5588 4505 Business Card welder Mach & Equip TCI 7 2,743.07 1,991.97 7 04/25/05 821 3101 0 Lowes drill Mach & Equip TCI 7 2,200.00 1,597.62 6 05/05/05 820 810 Steel S	04/23/03	April	SouthTrust Bank VISA	compressor	Mach & Equip TVP	7	408.06	408.06	(0.00)
11/10/03 1394 Hornbuckle Equipment, Inc. 16' Steel Bed Trailer s/n 4P7U816293F00318: Mach & Equip TVP 7 38,208.00 35,933.73 2,2 11/30/03 1006 SSD Control Technology, Inc 24'' Band Saw Mach & Equip TVP 7 38,208.00 35,933.73 2,2 11/30/04 Business Card Heater Mach & Equip TVP 10 499.00 274.46 20/2/4/05 5588 4505 Business Card Pellet Jack for Tampa Forklift Mach & Equip TVP 10 499.00 274.46 20/2/4/05 5588 4505 Business Card Pellet Jack for Tampa Forklift Mach & Equip TCI 7 319.93 239.95 24/19/05 5588 4505 Business Card Pellet Jack for Tampa Forklift Mach & Equip TCI 7 319.93 239.95 24/19/05 5588 4505 Business Card Pellet Jack for Tampa Forklift Mach & Equip TCI 7 548.27 398.15 104/22/05 6003 NOFV drill Mach & Equip TCI 7 548.27 398.15 104/22/05 6003 NOFV drill Mach & Equip TCI 7 2,000.00 1,597.62 210.96 24/28/05 50046 Ritmo America Extrusion Welder Mach & Equip TCI 7 2,000.00 1,597.62 60/20/05 5588 4505 Business Card Alfr Compressor Tampa Mach & Equip TCI 7 426.93 299.87 14/26/20/20/20/20/20/20/20/20/20/20/20/20/20/	06/03/03	2683	NOFV	Tractor - Barnett Tractor Co.	Mach & Equip TCI	7	2,915.00	2,915.00	(0.00)
11/30/03 1106 SSD Control Technology, Inc. 24" Band Saw Mach & Equip TCI 7 17,000.00 13,593.13 2,2 11/30/104 1296 11/30/04 Business Card Pallet Jack for Tampa Forklift Mach & Equip TCI 7 319.93 239.95 04/19/05 5588 4505 Business Card Pallet Jack for Tampa Forklift Mach & Equip TCI 7 319.93 239.95 04/19/05 5588 4505 Business Card Weider Mach & Equip TCI 7 548.27 398.15 1 04/22/05 603 NOFV drill Mach & Equip TCI 7 548.27 398.15 1 04/22/05 821 3101 0 Lowes Mrill Mach & Equip TCI 7 2,743.07 1,991.97 7 04/22/05 803 NOFV drill Mach & Equip TCI 7 2,200.00 1,597.62 6 05/05/05 804 NOFV drill press Mach & Equip TCI 7 2,200.00 1,597.62 6 05/05/05 6004 NOFV drill press Mach & Equip TCI 7 426.93 299.87 1 06/29/05 5588 4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 426.93 299.87 1 06/29/05 5588 4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 446.93 3,115.89 1.3 08/317/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/318/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/318/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/318/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.00 161.00 08/317/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 203.97 138.40 08/318/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 550.00 331.33 1 08/18/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 550.00 331.33 1 08/18/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 550.00 331.33 1 08/18/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 550.00 331.33 1 08/318/05 5160 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCI 7 550.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one on Depr List - Tools-445 Mach & Equip TCI 7 499.95 368.46 1 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Tools-445 Mach & Equip TCI 7 599.95 414.17 1 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Tools-	06/25/03	June	STBC	Box Blade for Tractor	Mach & Equip TCI	7	249.44	246.19	3.25
10/31/04 1296	11/10/03	1394	Hornbuckle Equipment, Inc.	16' Steel Bed Trailer s/n 4P7U816293F00318	: Mach & Equip TVP	7	2,115.19	1,989.29	125.90
11/30/04 Business Card Heater Mach & Equip TVP 10 499.00 274.46 20/24/05 5588 4505 Business Card Pallet Jack for Tampa Forklift Mach & Equip TCl 7 319.93 239.95 04/19/05 5588 4505 Business Card Weider Mach & Equip TCl 7 2,743.07 1,991.97 7 04/22/05 6003 NOFV drill Mach & Equip TCl 7 548.27 398.15 7 04/22/05 821 3101 0 Lowes drill Mach & Equip TCl 7 2,200.00 1,597.62 60 04/28/05 821 3101 0 Lowes drill Mach & Equip TCl 7 2,200.00 1,597.62 60 04/28/05 05046 Ritmo America Extrusion Welder Mach & Equip TCl 7 2,200.00 1,597.62 60 05/05/05 6004 NOFV drill press Mach & Equip TCl 7 1,675.00 1,216.37 4 06/20/05 5588 4505 Business Card Alr Compressor Tampa Mach & Equip TCl 7 426.93 299.87 4 06/29/05 6016 NOFV Forklift Tampa Mach & Equip TCl 7 4436.19 3,115.89 1,3 08/11/05 5588 4505 Business Card ChainSaw Mach & Equip TCl 7 496.79 337.10 1 08/11/05 5588 4505 Business Card ChainSaw Mach & Equip TCl 7 496.79 337.10 1 08/31/05 1167 Business Card Business Card Business Card Business Card Saw Mach & Equip TCl 7 203.97 138.40 08/31/05 1588 4505 Business Card Saw Mach & Equip TCl 7 246.00 166.00 12/15/05 5816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCl 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCl 7 500.00 372.62 2 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCl 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Drill (listed as one on Depr List -Tools=445 Mach & Equip TCl 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Drill (listed as one on Depr List -Tools=445 Mach & Equip TCl 7 599.95 344.17 1 12/30/05 5049 9020 NOFV Drill (listed as one on Depr List -Tools=Mach & Equip TCl 7 599.95 344.17 1 12/30/05 5049 9020 NOFV Drill (li			SSD Control Technology, Inc,.	=			38,208.00	35,933.73	2,274.27
0.7/24/05 5588 4505 Business Card Welder Wadh & Equip TCl 7 319.93 239.95	10/31/04	1296							3,440.49
04/19/05 5588 4505 Business Card welder Mach & Equip TCl 7 2,743,07 1,991,97 7 04/22/95 6003 NOFV drill Mach & Equip TCl 7 548.27 398.15 1 04/28/05 821 3101 0 Lowes drill Mach & Equip TCl 7 248.27 398.15 1 04/28/05 505046 Ritmo America Extrusion Welder Mach & Equip TCl 7 2,200.00 1,597.62 6 05/06/05 6004 NOFV drill press Mach & Equip TCl 7 2,200.00 1,597.62 6 06/29/05 5016 NOFV Alr Compressor Tampa Mach & Equip TCl 7 426.93 299.87 1 06/29/05 5016 NOFV Forklift Tampa Mach & Equip TCl 7 426.93 299.87 1 06/29/05 5018 81505 Business Card ChainSaw Mach & Equip TCl 7 496.79 3937.1	11/30/04		Business Card	Heater	Mach & Equip TVP	10	499.00	274.46	224.54
04/22/05 6003 NOFV drill Mach & Equip TCI 7 548.27 398.15 1 04/25/05 821 3101 0 towes drill Mach & Equip TCI 7 290.52 210.96 04/28/05 05046 Ritmo America Extrusion Welder Mach & Equip TCI 7 2,00.00 1,597.62 6 05/05/05 6004 NOFV drill press Mach & Equip TCI 7 2,200.00 1,597.62 6 06/20/05 5588 4505 Business Card Alt Compressor Tampa Mach & Equip TCI 7 4,2693 299.87 1 06/29/05 6016 NOFV Forklift Tampa Mach & Equip TCI 7 4,36.19 3,115.89 1,3 08/11/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/18/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/18/05 5588 4505 Business Card Business Card Business Card Mach & Equip TCI 7 156.30 166.00				Pallet Jack for Tampa Forklift	Mach & Equip TCI		319.93	239.96	79.97
04/25/05 821 3101 0 lowes drill Mach & Equip TVP 7 290.52 210.96 04/28/05 50504 Ritmo America Extrusion Welder Mach & Equip TCI 7 2,200.00 1,597.62 6 05/06/05 5004 NOFV drill press Mach & Equip TCI 7 1,675.00 1,216.37 4 06/20/05 5588 4505 Business Card Air Compressor Tampa Mach & Equip TCI 7 4,436.19 3,115.89 1,3 08/11/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/13/05 5167 Business Card 2 Compressors Mach & Equip TCI 7 496.79 337.10 1 08/13/05 5168 Business Card 2 Compressors Mach & Equip TCI 7 496.79 337.10 1 08/13/05 5168 Business Card 2 Compressors Mach & Equip TCI 7 266.00 166.00 08/13/15 5168 PATTERSON H	04/19/05	5588 4505	Business Card	welder	Mach & Equip TCI	7	2,743.07	1,991.97	751.10
04/28/05 65046 Ritmo America Extrusion Welder Mach & Equip TCI 7 2,200.00 1,597.62 6 05/05/05 6004 NOFV drill press Mach & Equip TCI 7 1,675.00 1,216.37 4 06/20/05 5588 4505 Business Card Alr Compressor Tampa Mach & Equip TCI 7 426.93 299.87 1 06/17/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 4,436.19 3,115.89 1,3 08/31/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 4,96.79 337.10 1 08/31/05 1167 Business Card 2- Compressors Mach & Equip TCI 7 495.79 337.10 1 08/31/05 1167 Business Card 2- Compressors Mach & Equip TCI 7 203.97 138.40 08/31/05 1167 Business Card 3- Equip Mach & Equip TCI 7<	04/22/05	6003	NOFV	drill .	Mach & Equip TCI	7	548.27	398.15	150.12
05/06/05 6004 NOFV drift press Mach & Equip TCl 7 1,675.00 1,216.37 4 06/20/05 5588 4505 Business Card Air Compressor Tampa Mach & Equip TCl 7 428.93 299.87 1 06/29/05 6016 NOFV Forklift Tampa Mach & Equip TCl 7 428.93 299.87 1 08/31/705 5588 4505 Business Card ChainSaw Mach & Equip TCl 7 496.79 337.10 1,3 08/31/95 1167 Business Card Heater plates Mach & Equip TCl 7 203.97 138.40 09/23/05 5588 4505 Business Card Heater plates Mach & Equip TCl 7 246.00 166.05 09/23/05 5588 4505 Business Card Heater plates Mach & Equip TCl 7 246.00 166.05 09/23/05 5588 4505 Business Card Heater plates Mach & Equip TCl 7 260.00 334.53 1 12/15/05 5816 PATTERSON <t< td=""><td>04/25/05</td><td>821 3101 0</td><td>Lowes</td><td>dritt</td><td>Mach & Equip TVP</td><td>7</td><td>290.52</td><td>210.96</td><td>79.56</td></t<>	04/25/05	821 3101 0	Lowes	dritt	Mach & Equip TVP	7	290.52	210.96	79.56
06/20/05 5588 4505 Business Card Air Compressor Tampa Mach & Equip TCl 7 426.93 299.87 1.0 06/29/05 6016 NOFV Forklift Tampa Mach & Equip TCl 7 4,286.19 3,115.89 1,3 08/17/05 5588 4505 Business Card ChainSaw Mach & Equip TCl 7 496.79 337.10 1 08/31/05 1167 Business Card Heater plates Mach & Equip TCl 7 203.97 138.40 09/23/05 5588 4505 Business Card Heater plates Mach & Equip TCl 7 155.30 106.05 09/23/05 5588 4505 Business Card Saw Mach & Equip TCl 7 246.00 164.00 12/15/05 S816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCl 7 550.00 334.53 1 12/15/05 S816 PATTERSON Hole Saw 8.605" Dia listed as one Mach & Equip TCl 7	04/28/05	05046	Ritmo America	Extrusion Welder	Mach & Equip TCI	7	2,200.00	1,597.62	602.38
06/29/05 6016 NOFV Forklift Tampa Mach & Equip TCI 7 4,436.19 3,115.89 1,3 08/17/05 5588 4505 Business Card ChainSaw Mach & Equip TCI 7 496.79 337.10 1 08/18/05 5588 4505 Business Card 2- Compressors Mach & Equip TCI 7 203.97 138.40 08/31/05 1167 Business Card Business Card Mach & Equip TCI 7 203.97 138.40 08/21/05 5588 4505 Business Card Saw Mach & Equip TCI 7 246.00 166.00 09/21/05 5816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCI 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 500.00 333.57 1 12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one Mach & Equip TCI 7	05/06/05	6004	NOFV	drill press			1,675.00	1,216.37	458.63
08/17/05 5588 4505 Business Card ChainSaw Mach & Equip TCP 7 496.79 337.10 1 08/18/05 5588 4505 Business Card 2- Compressors Mach & Equip TCI 7 203.97 138.40 106.05 08/31/05 5588 4505 Business Card Heater plates Mach & Equip TCI 7 246.00 164.00 12/15/05 5816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCI 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 500.00 332.57 3 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 600.00 372.62 2 12/15/05 5616 PATTERSON Hole Saw 8.625" Dia liste	06/20/05	5588 4505	Business Card	Air Compressor Tampa	Mach & Equip TCI	7	426.93	299.87	127.06
06/18/05 5588 4505 Business Card 2- Compressors Math & Equip TCl 7 203.97 138.40 08/31/05 1167 Business Card Heater plates Mach & Equip TCl 7 156.30 106.05 09/23/05 5588 4505 Business Card Saw Mach & Equip TCl 7 246.00 164.00 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCl 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCl 7 600.00 372.62 2 12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one on Depr List- Mach & Equip TCl 7 600.00 372.62 2 12/15/05 5012 Ritmo America Band Saw Mach & Equip TCl 7 32,600.00 20,957.14 11,6 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List- Tools=445 Mach & Equip TCl 7 495.00 374.19 1 12	06/29/05	6016	NOFV	Forklift Tampa	Mach & Equip TCI	7		3,115.89	1,320.30
08/31/05 1167 Business Card Heater plates Mach & Equip TCI 7 155.30 106.05 09/23/05 5588 4505 Business Card Saw Mach & Equip TCI 7 246.00 164.00 12/15/05 5816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCI 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 600.00 373.57 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 600.00 373.57 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 600.00 372.62 2 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one on Depr List-Mach & Equip TCI 7 600.00 372.62 2 12/15/05 5012 Ritmo America Band Saw Mach & Equip	08/17/05	5588 4505	Business Card	ChainSaw	Mach & Equip TVP	7	496.79	337.10	159.69
09/23/05 S588 4505 Business Card Saw Mach & Equip TCl 7 246.00 164.00 12/15/05 5816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCl 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCl 7 500.00 353.57 2 12/15/05 5816 PATTERSON Hole Saw 8.605" Dia listed as one Mach & Equip TCl 7 600.00 372.62 2 12/15/05 5816 PATTERSON Hole Saw 8.605" Dia listed as one on Depr List Facility TCl 7 600.00 372.62 2 12/15/05 5816 PATTERSON Band Saw Mach & Equip TCl 7 600.00 372.62 2 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List -Tools-445 Mach & Equip TCl 7 479.95 368.46 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List -Tools-445 Mach & Equip TCl 7 599.95 414.17	08/18/05	5588 4505	Business Card	2- Compressors	Mach & Equip TCI	7	203.97	138.40	65.57
11/15/05 5816 PATTERSON Hole Saw 6.625" Dia listed as one Mach & Equip TCI 7 500.00 334.53 1 12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one Mach & Equip TCI 7 550.00 335.57 2 12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one Mach & Equip TCI 7 600.00 372.62 2 12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one on Depr List Tools=Aft Equip TCI 7 600.00 372.62 2 12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one on Depr List Tools=Aft Mach & Equip TCI 7 32,600.00 20,957.14 11,6 12/30/05 5049 9020 NOFV Drill (listed as one on Depr List Tools=Aft Mach & Equip TCI 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List Tools=Aft Mach & Equip TCI 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List Tools=Aft Equip TCI 7 775.00 480.86 <t< td=""><td>08/31/05</td><td>1167</td><td>Business Card</td><td>Heater plates</td><td>Mach & Equip TCI</td><td></td><td>155.30</td><td>106.05</td><td>50.25</td></t<>	08/31/05	1167	Business Card	Heater plates	Mach & Equip TCI		155.30	106.05	50.25
12/15/05 5816 PATTERSON Hole Saw 8.625" Dia listed as one on Depr List - Tools= Mach & Equip TCl 7 550.00 353.57 32 12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one on Mach & Equip TCl 7 600.00 372.62 2 12/15/05 05162 Ritmo America Band Saw Mach & Equip TCl 7 32,600.00 20,957.14 11,6 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Tools=445 Mach & Equip TCl 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Drill (listed as one on Depr List - Tools=445 Mach & Equip TCl 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools=445 Mach & Equip TCl 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools=Mach & Equip TCl 7 75.00 480.86 2 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools=Mach & Equip TCl 7 75.00 480.86 2 1	09/23/05	5588 4505	Business Card	Saw	Mach & Equip TCI	7	246.00	164.00	82.00
12/15/05 5816 PATTERSON Hole Saw 18.00" Dia listed as one Mach & Equip TCI 7 600.00 372.62 2 12/15/05 05162 Ritmo America Band Saw Mach & Equip TCI 7 32,600.00 20,957.14 11,6 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Tools=44£ Mach & Equip TCI 7 479.50 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools=44£ Mach & Equip TCI 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools=44£ Mach & Equip TCI 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools=44£ Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools=44£ Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as	12/15/05	5816	PATTERSON	Hole Saw 6.625" Dia listed as one	Mach & Equip TCI	7	500.00	334.53	165.47
1//15/05 Sitro America Band Saw Mach & Equip TCI 7 32,600.00 20,957.14 11,6 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Tools-A44 Mach & Equip TCI 7 479.95 368.46 12 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools-A44 Mach & Equip TCI 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools-A46 Mach & Equip TCI 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools-Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools-Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools-Mach & Equip TCI 7 1,595.00 793.23 8 12/31/05 1544 Adj. for freight on equip. (listed as one on Mach &	12/15/05	5816	PATTERSON	Hole Saw 8.625" Dia listed as one	Mach & Equip TCI		550.00	353.57	196.43
12/15/05 Stitrio America Band Saw Mach & Equip TCI 7 32,600.00 20,957.14 11,6 12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Tools-44£ Mach & Equip TCI 7 479.50 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools-44£ Mach & Equip TCI 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools- Mach & Equip TCI 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools- Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools- Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools- Mach & Equip TCI 7 7,1,595.00 793.23 8 12/30/05 5049 9020 NOFV 12" Saw (listed as one	12/15/05	5816	PATTERSON	Hole Saw 18.00" Dia listed as one	Mach & Equip TCI	7	600.00	372.62	227.38
12/30/05 5049 9020 NOFV Dust Collector (listed as one on Depr List - Mach & Equip TC) 7 479.95 368.46 1 12/30/05 5049 9020 NOFV Drill (listed as one on Depr List - Tools+445 Mach & Equip TC) 7 495.00 374.19 1 12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools+445 Mach & Equip TC) 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Mach & Equip TC) 7 775.00 480.86 1 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools+ Mach & Equip TC) 7 1,595.00 793.23 8 12/31/05 1544 Adj. for freight on equip. (listed as one on Mach & Equip TC) 7 509.95 379.89 1	12/15/05	05162	Ritmo America	Band Saw	Mach & Equip TCi	7	32,600.00	20,957.14	11,642.86
12/30/05 5049 9020 NOFV Sander (listed as one on Depr List - Tools= Mach & Equip TCI 7 599.95 414.17 1 12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Tools= Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools= Mach & Equip TCI 7 7 1,595.00 793.23 8 12/31/05 1544 Adj. for freight on equip. (listed as one on Mach & Equip TCI 7 7 509.95 379.89 1	12/30/05	5049 9020	NOFV	Dust Collector (listed as one on Depr List	- Mach & Equip TCI	7	479.95	368.46	111.49
12/30/05 5049 9020 NOFV 17" Band Saw (listed as one on Depr List - Mach & Equip TCI 7 775.00 480.86 2 12/30/05 5049 9020 NOFV 12" Saw (listed as one on Depr List - Tools Mach & Equip TCI 7 1,595.00 793.23 8 12/31/05 1544 Adj. for freight on equip. (listed as one or Mach & Equip TCI 7 509.95 379.89 1	12/30/05	5049 9020	NOFV	Drill (listed as one on Depr List -Tools=44)	Mach & Equip TCI	7	495.00	374.19	120.81
12/30/05 5049 9020 NOFV 12° Saw (listed as one on Depr List -Tools Mach & Equip TCI 7 1,595.00 793.23 8 12/31/05 1544 Adj. for freight on equip. (listed as one or Mach & Equip TCI 7 509.95 379.89 1	12/30/05	5049 9020	NOFV	Sander (listed as one on Depr List -Tools=	Mach & Equip TCI	7	599.95	414.17	185,78
12/31/05 1544 Adj. for freight on equip. (listed as one or Mach & Equip TCI 7 509.95 379.89 1	12/30/05	5049 9020	NOFV	17" Band Saw (listed as one on Depr List	- Mach & Equip TCI	7	775.00	480.86	294.14
	12/30/05	5049 9020	NOFV	12" Saw (listed as one on Depr List -Tools	Mach & Equip TCI	7	1,595.00	793.23	801.77
	12/31/05	1544		Adj. for freight on equip. (listed as one of	r Mach & Equip TCI	7	509,95	379.89	130.07
	01/23/06	821 3101 0	LOWES	Dewalt 18V 4 Tool Combo	Mach & Equip TCi	5	538.92	467.05	71.87
				WIDOS PSM 10 Butt Fusion Machine + freig	Mach & Equip TCI	7	9,523.88	5,782.36	3,741.52

Tolplast Company, Inc. Capitalized Equipment Schedule As of June 15, 2010 Exhibit C

			CAIND								
Date	Num	Name	Memo	Class	Dīv	. Life	Purchase Price	Accum Depreciation	Book Value 12/31/10		
								12/31/2010			
03/10/06	06036	Ritmo America	64 Cutting Angle	Mach & Equip			2,521.38	2,143.18	378.20		
		Business Card	18V 4 Tool Compact Combo Pack	Mach & Equip Mach & Equip			360.72 4,039.36	294.58 3,231.49	55.14 807.87		
05/16/06 07/17/06		Ritmo America	Stargun w/ Brushes Router	Mach & Equip			59,280.00	32,462.85	26,817.15		
10/23/06		Plastic Welding Technologies	Extruder Welder	Mach & Equip		7	6,615.00	3,386.25	3,228.75		
and the second second second	and the second second second	Business Card	Saw	Mach & Equip			820.57	574.41	246.16 35,702.08	VEC	Wachovia
01/08/07 01/08/07		Ritmo America Ritmo America	ECOFITTINGS 12 TABLE fittings machine with PROFITTINGS 24 EASY UFE TABLE fittings ma				55,750.00 249,000.00	19,047.92 85,075.00	38,702.08 163,925.00		Wachovia
01/10/07	, 11, Santa Carrell and 110	Patterson Machine, Inc.	15" Hole Saw	Mach & Equip			585.00	285.53	299.47		
01/23/07		NOFV	Lathe	Mach & Equip			4,500.00	1,500.00	3,000.00		
01/25/07 04/06/07		NOFV American Express	Two Metal Mills Shop Tools for Tolplast	Mach & Equip Mach & Equip			8,161.00 11,114.11	2,720.34 3,519.46	5,440.66 7,594.65		
06/08/07		Nick Tolomei	Reimbursement for Shopbot Tools	Mach & Equip			11,615.00	3,484.49	8,130.51		
		•	MA-40 Used S/N 6304482-H/0053443	Mach & Equip			6,347.85	1,692.76	4,655.09		
10/03/07 12/31/07		reconsistencia del como de la como	MA-25 extruder s/n 6407-1107-H/0042481 Ram 28 Butt Fusion & Inserts	Mach & Equip Mach & Equip	Charlest Street	Automotive Advantage	6,325.00 10,155.00	1,686.67 2,538.90	4,638.33 7,616.10	VES	Wachovia
05/22/08		Wegner Welding	Mini Extrusion Welder s/n 82570	Mach & Equip			3,250.00	889.88	2,360.12		***************************************
05/22/08		Wegner Welding	Mini Extrusion Welder s/n 82594	Mach & Equip	Carlot Services	artinous transcription to	3,250.00	889.87	2,350.13		
07/24/08		JM Industrial/R.Stinson	4' x 4' Heat Table	Mach & Equip Mach & Equip			9,121.73 8,723.89	2,294.85 2,180.85	6,826.88 6,543.04	:	Wachovia Wachovia
07/24/08 08/15/08		JM Industrial/R.Stinson Wegner Welding	4' x 4' Heat Table Mini Extrusion Welder s/n 82729	Mach & Equip			3,250.00	2,160.63 773.81	2,476.19	163	Wacsiovia
09/02/08		Tommy Mcpherson	Clark Forklift	Mach & Equip		7	1,250,00	282.74	967.26		
09/17/08		Steve Speegle	Karlift Forklift	Mach & Equip			4,040.00	913.81	3,126.19		
10/14/08 11/18/08		McDonald Electric A.R.E. Louisiana	Upgrade Wiring Equip Install For Shop Process	Mach & Equip Mach & Equip			1,966.00 2,280.00	421.2 9 488.57	1,544.71 1,791.43		
11/28/08	to two to buy and a standard	RITMO	98480240 Band Saw 24" / Sigma 630	Mach & Equi		Star marketonica	22,560.65	4,834.43	17,726.23	YES	Wachovia
11/28/08		RITMO	98850150 AUTHOR 2,5KVA VIN 208-220-24				1,150.00	246.43	903,57	5	Wachovia
11/28/08 11/28/08		RITMO RITMO	92550555 ECO FITTINGS 12 400 VAC 50/60 91065340 RAM 414 TE (Self Propelled) (4'				60,000.00 20,156.25	12,857,14 4,319.20	47,142.86 15,837.05		Wachovia Wachovia
11/28/08		RITMO	87293354 Inserts 4" IPS	Mach & Equi			345,41	74.02	271.39		Wachovia
11/28/08		RITMO	87294153 Inserts 6" IPS	Mach & Equip			345.41	74.02	271.39		Wachovia
11/28/08		RITMO	87294153 DIAM 8" IPS 87294643 DIAM 10" IPS	Mach & Equip	200		345,41 345,41	74.02 74.02	271.39 271.39		Wachovia Wachovia
11/28/08 11/28/08		RITMO RITMO	87295382 DIAM 12" IPS	Mach & Equip Mach & Equip			345.41	74.02	271.39		Wachovia
11/28/08		RITMO	98480240 Band Saw 24" / Sigma 630	Mach & Equi			22,560.65	4,834.43	17,726.23		Wachovia
11/28/08		RITMO	AUTOTR. 2.5KVA VIN 208-220-240-440-460-				1,150.00	246,43	903.57	i	Wachovia
11/28/08 12/18/08	.,	RITMO	Sales Tax Drill 900w-230 Vac (Black) serial#001174	Mach & Equip Mach & Equip	,		1,472.64 603.00	315.57 129.21	1,157.07 473.79	160	Wachovia
12/24/08		Frank Congo	Purchase of Used Band Saw	Mach & Equi			900.00	192.86	707.14		
12/24/08		Whiteker Towing	Delivery of Band Saw	Mach & Equip			150.00	32.14	117.86		
1/21/2009		Business Card M & W Equipment Co., Inc.	Welding Hot Air Gun, 3 Hot air machines, 7.5 HP 80 gal Champion Air Compressor				2,173.16 2,538.65		1,593.65 1,861.68		
******		SECOR*	(1)#412 used Fusion Machine w/ All IPS				27,009.88		22,508.23	YES	Wachovia
*******		SECOR*	(1)#618 Used Fusion Machine w/ All IPS				25,990.12		21,658.43	YES	Wachovia
02/01/96 06/01/97		Account Opening Balance Account Opening Balance	Xerox Copier GE Telephone System	Office Equip &			876.00 864.00	876.00 864.00	0.00 00.0		
01/12/99		Account Opening Balance	Computer Software-reimb Jackie	Office Equip i			216.00	216.00	0.00		
01/07/00		OFFICE DEPOT	TVP Fax Machine	Office Equip (269.99	269.99	0.00		
09/21/00 06/16/03		Michelle Delorme Costco	software-accounting flat panel monitor	Office Equip &			485.99 291.59	485.99 288.39	0.00 3.20		
06/27/03		Jackie Tolomel	HP All in one computercopier purch on Jackie				538.89	532.54	6.35		
11/30/03		Staples	Cannon Copier	Office Equip (485 <i>.</i> 46	450.54	34.92		
12/11/03		Business Card	Flat Panel Monitor Less Rebate	Office Equip i			192.99	179.20	13.79		
03/25/04 05/10/04	797282000	Staples Staples	HP Laserjet for Nick-Tampa Quickbooks	Office Equip &			259.65 680.42	228.90 591.10	30.75 89.32		
	797282000	•	TCI Fax \$30 Rebate	Office Equip i			169.98	141.66	28.32		
	797282000		Copler	Office Equip 8			374,48	302.95	71.53		
		Business Card Business Card	Carnera Laptop	Office Equip (126.08 2,138.37	97.53 1,654.55	28.55 483.82		
02/10/05		PC Solutions	Server Computer	Office Equip 8			200.00	152.37	47.63		
	797282000		Safe	Office Equip 8			988.68	519.06	469.62		
03/31/05 11/02/05		Business Card NOFV	Paul's computer Tampa Computer - Listed Together	Office Equip i			633,35 880.72	467,49 576, 6 6	165.86 304.06		
11/02/05		NOFV	Laptop Listed Together	Office Equip 8			880,70	576.64	304.06		
		Business Card	Camera - 2 Listed Together	Office Equip 8	k ta		307.79	266.75	41.04		
	501-78056.		Computer- Media Access & Creative Suite	Office Equip 8			3,029.35	1,173.93	1,855.42		
	501-78056; 5588 4505	Business Card	Camera - 2 Listed Together	Office Equip &			1,416.25 307.79	1,416.25 307.79	(0.00) 0.00		
		Dell (on list as 8909.75)	Warehouse Computer - Less 100 Rebate.	Office Equip 8			1,392.64	1,183.74	208.90		
		Business Card	Intuit Quickbooks Enterprise 10	Office Equip &			3,944.00	3,944.00	0.00		
		Dell (on list as 8909.75) Dell (on list as 8909.75)	Laptop-Outside Sales Server	Office Equip &			1,508.69 3,386.55	1,206.95 1,052.98	301.74 2,333.57		
		Business Card	Time Clack	Office Equip &			432.00	241.72	190.28		
07/12/06	501-78056:	Dell (on list as 8909.75)	Laptop	Office Equip &	Т СІ	5	1,454.45	1,122.75	341.71		
		Dell (on list as 8909.75) Business Card	Laptop less rebate of 470 Biz Card Reader	Office Equip &			1,157.42 268.75	887.36 152.30	270.06 116.45		
07/17/07 07/17/07		Business Card	Biz Card Reader	Office Equip &			268.75 268.75	37.77	230.98		
07/17/07	' June	Business Card	Biz Card Reader	Office Equip 8	₹ TCi	5	54.00	54.00	(0.00)		
09/05/07		Dell	Dell Computer for roger	Office Equip &			1,575.05	840.03	735.02		
01/16/08 06/30/08		Amex-N.Tolomei N.Al Computer Assoc	Nikkon D80 Digital Camera s/n3321001 Shop Bot Computer	Office Equip &			1,559.99 577.71	754.00 231.08	805.99 346.63		
08/11/08		Toshiba Sattelite Computer	=914.97-125	Office Equip &			789.97	289.66	500.31		
09/26/08		HNS	Reomte Access Sodtware	Office Equip &			775.00	258.33	516.67		

Tolplast Company, Inc. Capitalized Equipment Schedule As of June 15, 2010 Exhibit C

								Accum			
Date	Num	Name	Memo	Class	Oiv.	Life	Purchase Price	Depreciation	Book Value		
		7,0,7,0						@	12/31/10		
						-		12/31/2010		,	
03/29/94		Account Opening Balance	Panasonic Fax/Phone	Office Equip	& TCI	7	431.00	431.00	0.00		
04/24/95		Account Opening Balance	Office Desks	Office Equip	& TCI	5	360.00	360.00	0.00		
12/31/95		Account Opening Balance	Office Furniture	Office Equip	& TCI	5	1,064.00	1,064.00	0.00		
03/03/96		Account Opening Balance	Cabinets and Chairs	Office Equip	& TCI	7	361.00	361.00	0.00		
07/11/97		Account Opening Balance	Baker Shelving	Office Equip	& TCI	5	625.00	625.00	0.03		
07/21/97		Account Opening Balance	Office Furniture	Office Equip	& TCI	7	2,754.00	2,754.00	00,0		
09/09/97		Account Opening Balance	Filing Cabinet	Office Equip	& TCI	7	254.00	254.00	0.00		
10/07/97		Account Opening Balance	Lateral File -4 Drawer	Office Equip	& TCI	7	654.00	554.00	0.00		
06/04/98		Account Opening Balance	Desks	Office Equip	& TCI	7	917.00	904.15	12.85		
06/30/98		Account Opening Balance	Office Furniture	Office Equip	& TCI	7	701.00	664.36	36.64		
03/25/04 N	đar –	Staples	2 Leather Chairs-Tampa	Office Equip	& TCf	10	85.47	85.47	0.00		
08/29/05 5	588 4505	Business Card	2 Pictures	Office Equip	& TCI	10	447.85	209.25	238.60		
11/09/05 7	972 8200	Staples	Chair	Office Equip	& TCI	10	106.99	106.99	(0.00)		
04/10/06 6	035 5178	Staples	Black Fabric Chair	Office Equip	& TCI	7	152.51	152.51	0.00		
05/15/08 5	265	Nick Tolomei-Amer Ex	New Office Furniture	Office Equip	& TCI	5	2,594.29	994.52	1,599.77		
10/01/08 5	588	Business Card	Need To Look up	Office Equip	& TCI	5	1,332.10	444.00	888.10		
10/31/00 1	.009		2000 Ford F-650 Truck	Vehicles	TCI	5	34,417.51	34,417.51	0.00	No	
02/09/01 2	092	Hornbuckle	Trailer- 15'	Vehides	TCI	10	2,780.63	2,595.49	185.14		
10/31/05 1	177	Busîness Card	Bed liner for 2005 Chevy	Vehicles	TCI	5	900.51	825.48	75.03		
12/31/05 1	482	Not On List	2006 FORD F-350	Vehicles	TCI	7	49,436.29	31,780.54	17,655.75	Yes	Ford Motor
06/17/08 5	365	Nick Tolomei	Purchase of 2005 Chevy Tahoe	Vehicles	TCI	5	17,500.00	7,000.08	10,499.92	Yes	Wachovia
09/26/08 5	694	Nick Tolomei & Ken Galyean	Purchase of Trailer Purchased from Nick	Vehicles	TCI	5	1,250.00	458.26	791.74		
01/26/06 4	50		2006 Chevy Silverado	Vehicles	TVP	5	15,744.54	12,334.74	3,409.80		
							1,117,979.12	492,924.91	612,535.21		

	inventory valuation summary			
	As of June 15, 2010 Item Description	On Hand	Avg Cost	Asset Value
Inventory		and the second s		
AL BACK-UP RINGS, FLANGE	ES & ADA			
DIBU/02-11	2" SDR-11 DUCTILE IRON BACK-UP RING	13.00	2.44	31.72
DIBU/03-11	3" SDR-11 DUCTILE IRON BACK-UP RING	31.00	3.01	93.31
DIBU/04-11	4" SDR-11 DUCTILE IRON BACK-UP RING	7.00	4.53	31.71
DIBU/06-11	6" SDR-11 DUCTILE IRON BACK-UP RING	19.00	5.75	109.25
DIBU/08-11	8" SDR-11 DUCTILE IRON BACK-UP RING	4.00	8.37	33.48
DIBU/10-11	10" SDR-11 DUCTILE IRON BACK-UP RING	22.00	13.45	295.90
DIBU/12-11	12" SDR-11 DUCTILE IRON BACK-UP RING	3.00	19.01	57.03
DIBU/14-11	14" SDR-11 DUCTILE IRON BACK-UP RING	21.00	41.77	877.17
DIBU/16-11	16" SDR-11 DUCTILE IRON BACK-UP RING	3.00	53.37	160.09
DIBU/18-11	18" SDR-11 DUCTILE IRON BACK-UP RING	5.00	49.27	246.33
DI8U/24-11	24" SDR-11 DUCTILE IRON BACK-UP RING	0.00	0.00	0.00
DIBU/36-11	36" SDR-11 DUCTILE IRON BACK-UP RING	0.00	0.00	0.00
FA-0607	6" SDR7 HDPE Flange Adapter	2.00	11.67	23.34
FA-0617	6" SDR17 HDPE Flange Adapter	-2.00	16.85	-33.70
FA-0807	8" SDR7 HDPE Flange Adapters	3.00	35.45	106.35
FA-0817	8" SDR17 HDPE Flange Adapters	-2.00	24.00	-48.00
FA-1007	10" SDR7 HDPE Flange Adapters	5.00	47.25	236.25
FA-1011	10" SDR11 HDPE Flange Adapters	0.00	40.00	0.00
FA-1211	12" SDR11 HDPE Flange Adapters	9.00	52.84	475.56
FA-1217	12" SDR17 HDPE Flange Adapters	3.00	64.00	192.00
FA-1411	14" SDR11 HDPE Flange Adapters	0.00	95.00	0.00
FA-1417	14" SDR17 HDPE Flange Adapters	10.00	95.00	
FA-1611	16" SDR11 HDPE Flange Adapters	0.00	123.00	
FA-1011 FA-24-17	24" SDR17 HDPE Flange Adapters	0.00	0.00	
FA-36-26	36" SDR26 HDPE Flange Adapters	0.00	0.00	
I-PEFA/02-11	2" SDR-11 HDPE Flange Adapter	8.00	7.41	
I-PEFA/03-11	3" SDR-11 HDPE Flange Adapter	12.00	7.81	
I-PEFA/04-11	4" SDR-11 HDPE Flange Adapter	13.00	10.22	
I-PEFA/04-11	6" SDR-11 HDPE Flange Adapter	28.00	15.27	
•	6" SDR-17 HDPE Flange Adapter	15.00	15.01	
I-PEFA/06-17	8" SDR-11 HDPE Flange Adapter	13.00	21.75	
I-PEFA/08-11		13.00	21.25	
I-PEFA/08-17	8" SDR-17 HDPE Flange Adapter	11.00	38.01	
I-PEFA/10-11	10" SDR-11 HDPE FLANGE ADAPTER 10" SDR-17 HDPE FLANGE ADAPTER	14.00	38.81	
I-PEFA/10-17		0.00	60.05	
I-PEFA/12-11	12" SDR-11 HDPE FLANGE ADAPTER	13.00	95.01	
I-PEFA/14-11	14" SDR-11 HDPE FLANGE ADAPTER	12.00	119.51	· · ·
I-PEFA/16-11	16" SDR-11 HDPE FLANGE ADAPTER	5.00	147.83	
I-PEFA/18-11	18" SDR-11 HDPE FLANGE ADAPTER	0.00		
SE-24-17	24" SDR17 HDPE Stub Ends	0.00		
\$E-36-26	36" SDR26 HDPE Stub Ends	0.00		
BACK-UP RINGS, FL Total BACK-UP RINGS, F	ANGES DO NOT USE FLANGES & ADA	313.00	:	9,705.0
•				
CATCH BASIN & OUTLE	15			
CATCH BASINS		2.22	15.40	
FN-1200	12" x 12" Catch Basin 2 opening	0.00		
FN-625	6" Pop-up Emitters with Spee-D Basin	5.00		
TN-0101	6" Spee-D Basin, Single 3" & 4" Locking Outlet, Black	7.00		
TN-0247	End Cap, Spee-D Channel, Grey	37.00		
TN-0248	Coupling, Spee-D Channel, Grey	7.00		
TN-0400	Channel Drain, 4' Spee-D, Grey	11.00		
TN-0649	4" Dura End Outlet, Gray	3.00		
TN-0810	5"x 20" deep Profile Channel Drain	0.00		
TN-0900	9" x 9" Catch Basin Two Openings, Black	0.00		
TN-1200	12" X 12" Catch Basin 2 Openings, Black	4.00		
TN-1230	12" X 12" Low Profile Adapter, Black	4.00		
TN-1250	12" Round Grate	0.00		
TN-1280	12" Atrium Grate (Green)	7.00	13.8	5 96.9

TN-1280

TN-1812

12" Atrium Grate (Green)

18" Square Grate, Green

96.95

72.53

7.00

3.00

13.85

24.18

	inventory valuation summary			
	As of June 15, 2010	On Hand	Avg Cost	Asset Value
Inventory				
TN-2424-18	24" x 24" x 18" Vault Series Valve Box	0.00	92.38	0.00
TN-2424-30	24" x 24" x 30" Vault Series Valve Box	0.00	172.66	
TN-247	Channel End Cap	47.00	2.03	95.41
TN-248	Channel Coupling	24.00	2.03	
TT-NP-122	8" Round Green Grate	10.00	3.79	
TT-NP-1833	18" Catch Basin, 2 opening	2.00 30.00	70.45 4.66	
TT-NP-248	8" Universal Outlet	26.00	1.55	
TT-NP-250	6" Universal Plug	0.00	15.68	
TT-NP-700	4" x 4' Channel	0.00	2.10	
TT-NP-749	4" End Cap Adapter DO NOT USE THIS INVENTORY ITEM	0.00	0.00	
Total CATCH BASINS	EDO NOT OSE THIS REVENTORY TIEM	227.00	5.55	1,041.92
Total CATCH BASINS		227100		-,- \
CATCH BASIN & OUTLET:	S DO NOT USE	0.00	0.00	
Total CATCH BASIN & OUTLE	TS	227.00		1,041.92
GEOSYNTH				
TT-MIRASCAPE	Spunbond Woven Geotextile (36 x 300 : 100 sq yd roll)	0.00	20.00	
TX-LBF-1500	Terratex LBF (3' by 1500' Roil)	0.00	49,40	
TX-LBF3-300	Terratex LBF (3' x 300' Roll)	0.00	11.45	
GEOSYNTH - Other	DO NOT USE	0.00	0.00	
Total GEOSYNTH		0.00		0.00
GRATES				
FN-1211	12" X 12" Grate Plastic	24.00	18.50	444.00
FN-1250	12" Round Grate, Green	0.00	23.34	0.00
FN-1512	15" Round Grate, Green	0.00	44.86	
FN-1811	18" x 18" Grate Plastic Black	0.00	67.98	
FN-1815	18" x 18" Steel Grate	0.00	138.65	
FN-2411	24" x 24" Grate Plastic Black	0.00	172.60	
TT-NP-1223	12" Cast Iron Grate	0.00		
GRATES - Other	DO NOT USE	0.00		
Total GRATES		24.00		444.00
MISCELLANEOUS				
Fil-Fab3-360 4 oz.	4oz Non-woven Geotextile 3' x 360'	0.00		
Fìl-Fab3-360 4 oz.Grey	4oz Non-woven Geotextile 3' x 360'	0.00		
MISCELLANEOUS - Other	DO NOT USE	0.00	•	
Total MISCELLANEOUS		0.00		0.00
PIPE - CORRUGATED				
SC-04x020	4" x 20' Smooth Core Pipe	809.75		
SC-06x020	6" x 20' Smooth Core Pipe	80.25		
SC-08x020	8" x 20' Smooth Core Pipe	90.337		
SC-10x020	10" x 20' Smooth Core Pipe	119.50		
SC-12x020	12" x 20' Smooth Core Pipe	0.00		
SC-15x020	15" x 20' Smooth Core Pipe	219.75 100.00		
SC-18x020	18" x 20' Smooth Core Pipe	519.50		
SC-24x020	24" x 20' Smooth Core Pipe	192.50		
SC-30x020	30" x 20' Smooth Core Pipe	60.00		
SC-36x020	36' x 20' Smooth Core Pipe	50.00		
SC-42x020	42" X 20' Smooth Core Pipe 48" x 20' Smooth Core Pipe	80.00		
SC-48x020 SC-60x020	60" x 20' Smooth Core Pipe	0.00		
SC-80X020 SW-04x100	4" x 100' Single Wall Pipe	2,395.00		
SW-04x100 SW-06x100	6" x 100' Single Wall Pipe	100.00		
SW-15x020	15" x 20' Single Wall Pipe	0.00		
SWS-04x100	4" x 100' Single Wall Slotted Pipe	0.00		
5WS-04x100	6" x 100' Single Wall Slotted Pipe	2,100.00		
SWSS-04x100	4" x 100' Single Wall Slotted Pipe w/Sock	0.00		
220 0 1/1400				

As	of June	15,	2010
	item vescri	DUON	

On Hand Avg Cost Asset Value

	-	item Description	Oli Hallu	Avg Cost 7	Asset value
Inventory	SWSS-06x100 (PIPE - CORRUGATED - Oth)	5" x 100' Single Wall Slotted Pipe w/Sock	0.00	0.86 0.00	0.00
т.,		50 NO1 03E	6,916.587	0.00	19,330.54
101	al PIPE - CORRUGATED		0,510.587		15,550.54
PIP	E - SOLID WALL				
111		12" Storm Seal Double Wall HDPE Pipe	0.00	3.27	0.00
		18" Storm Seal Double Wall HDPE Pipe	0.00	5.74	0.00
		24" Storm Seal Double Wall HDPE Pipe	0.00	10.48	0.00
		5" IPS SDR 09 Solid Wall Pipe-50' Length	0.00	6.10	0.00
	SWPIPE SDR09-10x50	10" IPS SDR 9 Solid Wall Pipe-50' Length	650.00	13.83	8,989.50
	SWPIPE SDR09-12x40	12" IPS SDR 9 Solid Wall Pipe-40' Length	80.00	18.68	1,494.40
	SWPIPE SDR09-16x40	16" IPS SDR 9 Solid Wall Pipe-40' Length	10.00	26.47	264.70
	SWPIPE SDR09-16x50	16" IPS SDR 9 Solid Wall Pipe-50' Length	0.00	32.87	0.00
	SWPIPE SDR09-16x51	16" IPS SDR 9 Solid Wall Pipe-50' Length	20.00	31.01	620.16
	SWPIPE SDR09-18x40	18" IPS SDR 9 Solid Wall Pipe-40' Length	27.00	32.84	886.68
	SWPIPE SDR09-20X40	20" iPS SDR 9 Solid Wall Pipe-40' Length	40.00	51.35	2,054.00
	SWPIPE SDR09-20x41	20" IPS SDR 9 Solid Wall Pipe-40' Length	0.00	51.35	0.00
		3" IPS SDR 11 Solid Wall Pipe-40' Length	2,946.00	1.04	3,068.52
	SWPIPE SDR11-04X40	4" IPS SDR 11 Solid Wall Pipe-40' Length	3,462.00	1.71	5,920.00
	SWPIPE SDR11-06x40	6" IPS SDR 11 Solid Wall Pipe-40' Length	4,108.00	3.73	15,322.83
	SWPIPE SDR11-08X40	8" IPS SDR 11 Solid Wall Pipe-40' Length	1,053.25	7.08	7,453.37
	SWPIPE SDR11-08X50	8" IPS SDR 11 Solid Wall Pipe-50' Length	0.00	6.49	0.00
	SWPIPE SDR11-10x40	10" IPS SDR 11 Solid Wall Pipe-40' Length	773.00	10.66	8,236.87
	SWPIPE SDR11-12x50	12" IPS SDR 11 Solid Wall Pipe-50' Length	432.00	13.64	5,892.22
	SWPIPE SDR11-14x40	14" IPS SDR 11 Solid Wall Pipe-40' Length	270.00	20.42	5,513.13
	SWPIPE SDR11-16x40	16" IPS SDR 11 Solid Wall Pipe-40' Length	29.10	23.78	692.00
	SWPIPE SDR11-18x40	18" IPS SDR 11 Solid Wall Pipe-40' Length	101.75	28.83	2,933.30
	SWPIPE SDR11-24x40	24" IPS SDR 11 Solid Wall Pipe-40' Length	63.00	50.78	3,198.86
		3" IPS SDR 17 Solid Wall Pipe-40' Length	520.00	1.70	884.00
		4" IPS SDR 17 Solid Wall Pipe-40' Length	245.00	1.70	416.50
		6" IPS SDR 17 Solid Wall Pipe-50' Length	800.00	2.52	2,016.00
		8" IPS SDR 17 Solid Wall Pipe-40' Length	1,058.00	4.43	4,686.94
		8" IPS SDR17 Solid Wall Pipe-50' Length	600.00	5.10	3,059.99
		8" IPS SDR 17 Solid Wall Pipe-50' Length	0.00	4.28	0.00
		10" IPS SDR 17 Solid Wall Pipe-40' Length	1,185.00	7.13	8,450.48
		12" IPS SDR 17 Solid Wall Pipe-40' Length	123.00	9.48	1,166.04
		20" IPS SDR 17 Solid Wall Pipe-40' Length	18.00	20.00	360.00
		24" IPS SDR 17 Solid Wall Pipe-40' Length	0.00	0.00	0.00
		6" IPS SDR 21 Solid Wall Pipe-40' Length	1,536.00	2.10	3,225.60
		10" IPS SDR 21 Solid Wall Pipe-50' Length	816.00	5.63	4,594.08
		6" IPS SDR 26 Solid Wall Pipe-40' Length	0.00	1.79	0.00
	SWPIPE SDR26-08X40	8" IPS SDR 26 Solid Wall Pipe-40' Length	271.50		771.06
	SWPIPE SDR26-12x50	12" IPS SDR 26 Solid Wall Pipe-50' Length	141.00		1,163.25
	SWPIPE SDR32.5-04x50	4" IPS SDR 32.5 Solid Wall Pipe-50' Length	3,094.50		2,275.27
	SWPIPE SDR32.5-06x50	6" IPS SDR 32.5 Solid Wall Pipe-50' Length	1,622.95 0.00		=
	SWPIPE SDR32.5-08x40	8" IPS SDR 32.5 Solid Wall Pipe-40' Length	1,467.25		
		8" IPS SDR 32.5 Solid Wall Pipe-50' Length	691.50		-
	SWPIPE SDR32.5-12x50	12" IPS SDR 32.5 Solid Wall Pipe-50' Length 48" IPS SDR 32.5 Solid Wall Pipe-40' Length	56.00		
	SWPIPE SDR32.5-48x40 SWPIPS-031740	3" x 40' SDR17 IPS 100 sold wall HDPE pipe	0.00		•
	SWPIPS-031740 SWPIPS-041740	4" X 40' SDR17/IPS	0.00		
	TJ75-500' Coil SDR 11	.75" x 500' coil SDR 11	3,000.00		
	TJ-1-500' Coil SDR 11	1" x 500' coil SDR 11	2,999.00		
	TJ-1.25-300' Coil SDR 11		0.00		
	TJ-1.25-500' Coil SDR 11		1,500.00		
	TJ-1.5-500' Coil SDR 11	1.5" x 500' coil SDR 11	1,500.00		
		10" 40' SDR11/iPS160 F714 Pipe	0.00		
	•	10" 40' SDR17/IPS100F714	0.00		
	•	12" 40' SDR11/IPS160 F714 Pipe	0.00		
	·	12" 40' SDR17/IPS100 F714 Pipe	0.00		
	TJ-14-40-SDR11	14" 40' SDR11 IPS160 F714 PIPE	0.00	15.99	0.00

		As of June 15, 2010	On Hand	Avg Cost	Asset Value
T1-18-04-OSDR1/F195107-12 **OF SDR1 PISSIO 9714 PIPE T1-18-05-OSDR2/F195467-13 **IP **OF SDR2 F1956-1714 PIPE 1.9-05-OSDR2 F195467-13 **OF SDR2 F1956-1714 PIPE 1.9-05-OSDR2 F195467-12 **OF SDR2 F1956-1714 PIPE 1.9-05-OSDR2 F195467-13 **OF SDR2 F1956-1714 PIPE 1.9-05-OSDR2 F1951007-13 **OF SDR2 F1956-1714 PIPE 1.9-05-OSDR2 F1951007-13 **OF SDR2 F1956-1714 PIPE 1.9-05-OSDR2 F1951007-13 **OF SDR1 F195100 F714 PIPE 1.9-05-OSDR2 F1951007-13 **OF SDR1 F1951007-13 *	•	14.4H 40[CDD47 (IDC400 C74.4 Dime	90.00	10.74	950.20
T1-18-40-S0816/PS64677 18-47 S0876/PS646 7714 Pipe 1.96-00 1.05 386.55 T1-20-S00* Coll S0R1 1 2.0* S010* Coll S0R1 1 1.500.00 0.50 750.00 11-24-05.00* Coll S0R1 1 2.0* S010* Coll S0R1 2.0* S010*		•			
T1-2-40-SORILI/PISLOFT 12 * 40* SDRILI/PISLOF 714 Pipe					
T1-20**SOP* COLISOR 11 2.0** SOP* COLISOR 11 T1-24-OSDR11 / 24* AV SOR IT 19150 F714 PIPE		·			
T1-24-49-SpR11	•	·	•		
TH-3-40-SDB11/PISEDET 38" AS SDB11/PISEDE 714 Pipe			•		
T1-3-590-SDR1/PIS100F32* SOR SDR17/PIS100F314 Pipe					
T1-4-40-S0811/PS150F71 4" 00' S0811/PS160F714 Pipe		•			
T1-6-40-SDR1/ PS106771 6" 40" SDR11/ PS1067714 Pipe	·	•			
TH-6-4Q-SDRTI/PISTIODF71 6"40 SDRTI/PISTIODF714 Pipe 40.00 5.90 2.556 0.00 17.8-40-SDRTI/PISTIODF718" 40" SDRTI/PISTIODF714 Pipe 0.00 5.90 0.00 0.00 0.00 0.00 0.00 0.00		•			
TH-8-40-SDRILI/PISIGOFY 38" of SDRILI/PISIGOFY 14 Pipe 0.00 3.05 0.00 PIPE - SOLID WALL - OTHER DO NOT USE 0.00 0.00 0.00 PIPE - SOLID WALL - OTHER DO NOT USE 0.00 0.00 0.00 PIPE - SOLID WALL - OTHER DO NOT USE 0.00 0.00 0.00 PIPE COUPLERS DO NOT USE 0.00 0.00 0.00 PIPE FITTINGS CB-08 8" Coupler Band 0.00 2.96 0.00 CB-10 10" Coupler Band 1.00 0.343 1.00 CB-10 10" Coupler Band 1.00 5.00 5.00 CB-12 1.2" Coupler Band 1.00 5.00 5.00 CB-13 15" Coupler Band 1.00 7.03 1.03 CB-18 18" Coupler Band 1.00 7.03 1.03 CB-19 10" Coupler Band 1.00 7.03 1.03 CB-19 10" Coupler Band 1.00 7.03 1.03 CB-11 15" Coupler Band 1.00 7.03 1.03 1.03 CB-18 18" Coupler Band 1.00 7.03 1.03 1.03 CB-18 18" Coupler Band 1.00 1.03 1.03 1.03 CB-18 18" Coupler Band 1.00 1.03 1.03 1.03 CB-19 1.03 1.03 1.03 1.03 1.03 1.03 1.03 1.03	•	·			
TH-8-4GSDRIT/PISSIONET1- 8" 40" SDRIT/PISSIONET1-18 Pipe PIPE - SOLID WALL - Other DO NOT USE PIPE - SOLID WALL - Other DO NOT USE PIPE FITTINGS CIB-08 8 "Coupler Band 0.00 2.96 0.00 CB-10 10" Coupler Band 1.00 3.38 140.62 CB-12 12" Coupler Band 1.10 0.0 5.00 5.00 CB-12 12" Coupler Band 1.10 0.0 7.93 5.518 CB-18 18" Coupler Band 1.10 0.7 7.93 5.518 CB-16 14" Coupler Band 1.10 0.7 7.93 5.518 CB-16 15" Coupler Band 1.10 0.0 1.2 8.0 1.72 5.00 CB-16 14" Coupler Band 1.10 0.0 1.2 8.0 1.72 5.00 CB-16 14" Coupler Band 1.10 0.0 1.2 8.0 1.72 5.00 CB-16 14" Coupler Band 1.10 0.0 1.2 8.0 1.72 5.00 CB-16 14" Coupler Band 1.10 0.0 1.2 8.0 1.72 5.00 CB-16 14" Coupler Band 1.10 0.0 1.2 8.0 1.72 5.00 CB-16 14" Coupler 15.0 0.0 1.72 5.00 CB-16 14" Shape Coupler 15.0 0.0 1.72 5.00 CB-16 14" Shape Coupler 15.0 0.0 0.0 1.72 5.00 CB-16 14" Shape Coupler 15.0 0.0 0.0 1.72 5.00 CB-16 14" Shape Coupler 15.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0					
PIPE - SOLID WALL - Other DO NOT USE	·	•			' = '
PIPE COUPLERS DO NOT USE	· ·			0.00	0.00
PIPE FITTINGS			41,348.80	1	129,110.43
PIPE FITTINGS	DIDE COLUDIEDS	DO NOTUE	0.00	0.00	0.00
CB-08 8" Coupler Band 0.00 2.96 0.00 CB-10 10" Coupler Band 41.00 3.43 140.62 CB-12 12" Coupler Band 12.00 7.93 55.85 CB-15 15" Coupler Band 12.00 7.93 55.85 CB-18 18" Coupler Band 15.00 18.43 276.43 CB-24 24" Coupler Band 5.00 50.10 250.50 CB-36-MARMAC 36" Coupler Band (Marmac) 0.00 81.72 0.00 CB-36-MARMAC 36" Coupler Band (Marmac) 5.00 0.09 81.72 0.00 CH-04 4" Internal Coupler 5.00 0.89 47.11 0.00 0.81.72 0.00 0.89 47.11 0.00 0.00 0.81.72 0.00 0		DO NOT OSE	0.00	0.00	0.00
CB-10 10° Coupler Band 41,00 3.43 1.40,62 CB-12 12° Coupler Band 10,00 5.00 50,00 CB-15 15° Coupler Band 11,00 12,88 167,44 CB-18 18° Coupler Band 15,00 18,43 276,43 CB-24 24° Coupler Band 5,00 50,10 250,50 CB-36-MARMAC 36° Coupler Band (Marmac) 0,00 81,72 0,00 CI-04 4° Internal Coupler 53,00 0.89 47,11 CI-05 6° Internal Coupler 22,00 1,50 33,00 CI-08 8° Internal Coupler 22,00 1,50 33,00 CS-06 6° Sapa Coupler 44,00 0,77 34,06 CS-07 4° Sap Coupler 16,00 5,08 8° Sap Coupler 16,00 5,08 8° Sap Coupler CS-08 8° Sap Coupler 16,00 5,08 8° Sap Coupler 16,00 5,08 8° Sap Coupler CS-06 6° Sap Coupler 16,00 5,08 8° Sap Coupler 10,00 1,49 56,52 CS-08		Oll Country Panel	0.00	2.00	0.00
C8-12 12" Coupler Band 10.00 5.00 95.18 C8-15 15" Coupler Band 12.00 7.93 95.18 167.44 C8-18 18" Coupler Band 13.00 12.88 167.44 CB-30 30" Coupler Band 15.00 50.01 250.50 CB-36-MARMAC 36" Coupler Band (Marmac) 0.00 81.72 0.00 CI-04 4" Internal Coupler 53.00 0.89 47.11 CI-05 6" Internal Coupler 22.00 1.50 33.00 CI-08 8" Internal Coupler 2.00 3.20 6.40 CS-04 4" Snap Coupler 44.00 0.77 34.06 CS-06 6" Snap Coupler 16.00 5.08 81.28 DSA-234 22x34 Cownspout Adapter 38.00 1.49 55.62 DSA-485,5x6 4" x 5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" Starral End Cap 45.00 0.79 35.55 EC-05 6" External End Cap 40.00		•			
CB-15 15" Coupler Band 12.00 7.93 95.18 CB-18 18" Coupler Band 13.00 12.88 167.44 CB-24 24" Coupler Band 15.00 18.43 276.43 CB-30 30" Coupler Band (Marmac) 0.00 81.72 0.00 CB-36-MARMAC 36" Coupler Band (Marmac) 0.00 81.72 0.00 CI-04 4" Internal Coupler 22.00 1.50 33.00 C.89 47.11 CI-05 6" Internal Coupler 22.00 1.50 33.00 C.89 47.11 CI-08 8" Internal Coupler 22.00 1.50 33.00 C.89 6.40 CS-04 4" Sapa Coupler 32.00 2.21 70.68 CS-36 6" Snap Coupler 38.00 1.49 56.62 CS-06 6" Snap Coupler 38.00 1.49 56.62 0.00 2.21 70.68 81.28 DSA-234 23.84 Downspout Adapter 38.00 1.49 56.62 0.54 40.00 6.92		•			
CB-18 18" Coupler Band 13.00 12.88 167.44 CB-24 24" Coupler Band 15.00 50.10 250.52 CB-30 30" Coupler Band 5.00 50.10 250.52 CB-36-MARMAC 36" Coupler Band (Marmac) 0.00 81.72 0.00 CI-04 4" Internal Coupler 53.00 0.89 47.11 CI-05 6" Internal Coupler 2.00 1.50 33.00 CI-08 8" Internal Coupler 2.00 3.20 6.40 CS-04 4" Snap Coupler 32.00 2.21 70.68 CS-06 6" Snap Coupler 15.00 50.8 81.28 CS-08 8" Snap Coupler 38.00 1.49 56.62 DSA-3234 2234 25.84 25.80 50.80 51.26 DSA-4253 4" x 5.5" x 6" brownspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 24.00 1.70 34.06 EC-05 6" External End Cap 24.00 1.59 <td></td> <td>•</td> <td></td> <td></td> <td></td>		•			
CB-24 24"Coupler Band 15.00 18.43 276.43 CB-30 30" Coupler Band 5.00 50.10 250.50 CB-36-MARMAC 36" Coupler Band (Marmac) 0.00 81.72 0.00 CI-04 4" Internal Coupler 25.00 0.89 47.11 CI-06 6" Internal Coupler 2.00 1.50 33.00 CI-08 8" Internal Coupler 2.00 3.20 6.40 CS-04 4" Snap Coupler 44.00 0.77 34.06 CS-06 6" Snap Coupler 32.00 2.21 70.68 CS-08 8" Snap Coupler 38.00 1.49 56.62 DSA-4253 2x3x4 Downspout Adapter 38.00 1.49 56.62 DSA-4254 2x3x4 Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-04 4" External End Cap 45.00 0.79 35.55 EC-05 6" External End Cap 0.00 4.20 0.		•			
CB-30 30° Coupler Band (Marmac) 0.00 81.72 0.00 CB-36-MARMAC 36° Coupler Band (Marmac) 0.00 81.72 0.00 CL-04 4" Internal Coupler 53.00 0.89 47.11 CL-06 6" Internal Coupler 22.00 1.50 33.00 CL-08 8" Internal Coupler 20.00 3.20 6.40 CS-04 4" Snap Coupler 44.00 0.77 34.60 CS-06 6" Snap Coupler 15.00 5.08 81.78 CS-08 8" Snap Coupler 38.00 1.49 56.26 DSA-234 23.34 Downspout Adapter 38.00 1.49 56.26 DSA-4253 4x4.25 x 3 Downspout Adapter 6.00 6.95 41.70 EC-04 4" Ksternal End Cap 45.00 0.79 35.55 EC-04 4" Sternal End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 40.00 4.70 189.20 EC-12 12" External End Cap 0.00 4.72 <td></td> <td>•</td> <td></td> <td></td> <td></td>		•			
CB-36-MARMAC 36" Coupler Band (Marmac) 0.00 81.72 0.00 CI-04 4" Internal Coupler 33.00 0.89 47.11 CI-06 6" Internal Coupler 22.00 3.20 6.40 CI-08 8" Internal Coupler 2.00 3.20 6.40 CS-04 4" Snap Coupler 32.00 2.21 70.68 CS-06 6" Snap Coupler 32.00 2.21 70.68 CS-08 8" Snap Coupler 16.00 5.08 81.28 DSA-234 2x3x4 Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x6 4" S.5" x6" Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x6 4" S.5" x6" Downspout Adapter 45.00 0.79 35.55 EC-06 6" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 40.00 1.59 38.25 EC-08 8" External End Cap 0.00 4.20 0.00 EC-12 12" External End Cap 0.00		,			
CI-04		•			
CI-06 6" Internal Coupler 22.00 1.50 33.00 CI-08 8" Internal Coupler 2.00 3.20 6.40 CS-04 4" Snap Coupler 44.00 0.77 34.06 CS-06 6" Snap Coupler 32.00 2.21 70.68 CS-08 8" Snap Coupler 18.00 5.08 81.82 DSA-234 2x3x4 Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x6 4" X.55" x6" Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x6 4" Sternal End Cap 45.00 0.79 35.55 EC-04 4" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 46.72 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-12 12" Flared End Section 0.00 117.24		·			
CI-08 8" Internal Coupler 2.00 3.20 6.40 CS-04 4" Snap Coupler 32.00 2.21 70.68 CS-06 6" Snap Coupler 16.00 5.08 81.28 CS-08 8" Snap Coupler 16.00 5.08 81.28 DSA-234 2x3xd Downspout Adapter 38.00 1.49 56.62 DSA-44253 4x4.25 x 3 Downspout Adapter 6.00 6.95 41.70 EC-04 4" Ksternal End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.0 189.25 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.72 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 SW-BT-06 6" Single Wall Bind Tee 3.00 4.36		· ·			
CS-04 4" Snap Coupler 34.00 0.77 34.06 CS-06 6" Snap Coupler 32.00 2.21 70.68 CS-08 8" Snap Coupler 16.00 5.08 81.28 DSA-234 2x3x4 Downspout Adapter 38.00 1.49 56.62 DSA-44253 4x4.25 x 3 Downspout Adapter 29.00 2.40 69.60 DSA-4425.5x6 4" x 5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 43.00 4.0 189.20 EC-10 10" External End Cap 40.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.20 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 4.36 13.07 SW-BT-06 6" Single Wall Elbow 90* 55.00 2.0 113.85 SW-EL-90-04 4" Single Wall Elbow 90* 55.0					
CS-06 6" Snap Coupler 32.00 2.21 70.68 CS-08 8" Snap Coupler 16.00 5.08 81.28 DSA-234 2x3x4 Downspout Adapter 38.00 1.49 56.62 DSA-44253 4x4.25 x 3 Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x6 4" x5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 0.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.72 0.00 FE-18 18" Flared End Section 0.00 46.72 0.00 FE-24 24" Flared End Section 0.00 17.24 0.00 SW-8E1-90-04 4" Single Wall Elbow 90" 55.00 2.07 113.85 SW-RED-06sco4 6" X a" Single Wall Tee <		•			
CS-08 8" Snap Coupler 16.00 5.08 81.28 DSA-234 2x3x4 Downspout Adapter 38.00 1.49 56.62 DSA-44253 4x4.25 x 3 Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x6 4" x 5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 46.72 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 41.20 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Elbow 90" 55.00 2.07 113.85 SW-Et-90-04 4" Single Wall Elbow 90"		• •			
DSA-234 2x3x4 Downspout Adapter 38.00 1.49 56.62 DSA-44253 4x4.25 x 3 Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x66 4" x 5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 22.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.20 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 17.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-E-90-04 4" Single Wall Edward 17.00 2.0 34.00 SW-TEE-06 6" Single Wall Tee 95.00 2.10 199.50 SW-Y-06 6" Single Wall		, ,			
DSA-44253 4x4.25 x 3 Downspout Adapter 29.00 2.40 69.60 DSA-4x5.5x66 4" x 5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 4.20 0.00 EC-12 12" External End Cap 0.00 4.02 0.00 FE-12 12" Elared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.93 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BD-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Reducer 17.00 2.00 34.00 SW-EL-90-66004 6" 4" Single Wall Tee 12.00 4.45 53.40 SW-TEE-06 6" Single Wall WYE </td <td></td> <td></td> <td></td> <td></td> <td></td>					
DSA-4x5.5x6 4" x5.5" x 6" Downspout Adapter 6.00 6.95 41.70 EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 46.72 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.93 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Elbow 90* 55.00 2.07 113.85 SW-E0-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-06 6" Single Wall Tee 95.00 2.10 199.50 SW-Y-06 6" Single Wall WYE 60.00 2.69 16.40 SW-Y-06 6" Single Wall WYE <td< td=""><td></td><td>·</td><td></td><td></td><td></td></td<>		·			
EC-04 4" External End Cap 45.00 0.79 35.55 EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 4.20 0.00 EC-12 12" External End Cap 0.00 46.72 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Reducer 17.00 2.00 34.00 SW-EL-90-04 4" Single Wall Tee 95.00 2.10 199.50 SW-EL-90-04 4" Single Wall Tee 95.00 2.10 199.50 SW-EL-90-04 4" Single Wall Tee 95.00 2.00 199.50 SW-EL-90-04 4" Single Wall Tee 96.00<		· · · ·			
EC-06 6" External End Cap 24.00 1.59 38.25 EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.20 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-06 6" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall WYE 60.00 2.69 161.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 60.00 3.00 2.258.84 PIPE FITTINGS - SOLID WALL A		•			
EC-08 8" External End Cap 43.00 4.40 189.20 EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.20 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-Et-90-04 4" Single Wall Etlow 90" 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall WYE 60.00 2.69 161.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 60.00 3.55 0.00 Total PIPE FITTINGS - Other DO NOT USE		,			
EC-10 10" External End Cap 0.00 3.36 0.00 EC-12 12" External End Cap 0.00 4.20 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 SW-BT-06 6" Single Wall Bilm Tee 3.00 4.36 13.07 SW-Et-90-04 4" Single Wall Elbow 90* 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-Y-EE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-05 6" Single Wall WYE 0.00 3.05 1.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS 50LID WALL 4.00 2.258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-04 4"		•			
EC-12 12" External End Cap 0.00 4.20 0.00 FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Elbow 90* 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall WYE 60.00 2.69 161.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 0.00 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 3.55 0.00 Total PIPE FITTINGS - WALL 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-03 3"		·			
FE-12 12" Flared End Section 0.00 46.72 0.00 FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Elbow 90* 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 3.00 0.00 Total PIPE FITTINGS 5SCILD WALL 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-03 3" SDR11 MOLDED END CAP 7.00 7.06 49.42 A					0.00
FE-18 18" Flared End Section 0.00 61.98 0.00 FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Elbow 90* 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 <		•			
FE-24 24" Flared End Section 0.00 117.24 0.00 SW-BT-06 6" Single Wall Blind Tee 3.00 4.36 13.07 SW-EL-90-04 4" Single Wall Elbow 90* 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall WYE 60.00 2.69 161.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00			0.00	61.98	0.00
SW-EL-90-04 4" Single Wall Elbow 90* 55.00 2.07 113.85 SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS 692.00 2,258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP AM-CAP-R11-04 4" SDR11 MOLDED END CAP AM-CAP-R11-06 6" SDR11 MOLDED END CAP AM-CAP-R11-08 8" SDR11 MOLDED END CAP AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	FE-24	24" Flared End Section	0.00	117.24	0.00
SW-RED-06x04 6" x 4" Single Wall Reducer 17.00 2.00 34.00 SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS 692.00 2.258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-BT-06	6" Single Wall Blind Tee	3.00	4.36	13.07
SW-TEE-04 4" Single Wall Tee 95.00 2.10 199.50 SW-TEE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS 692.00 2,258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-EL-90-04	4" Single Wall Elbow 90*	55.00	2.07	113.85
SW-TEE-06 6" Single Wall Tee 12.00 4.45 53.40 SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS 692.00 2,258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-RED-06x04	6" x 4" Single Wall Reducer	17.00	2.00	34.00
SW-Y-04 4" Single Wall WYE 60.00 2.69 161.40 SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-TEE-04	4" Single Wall Tee	95.00	2.10	199.50
SW-Y-06 6" Single Wall WYE 0.00 3.55 0.00 PIPE FITTINGS - Other DO NOT USE 0.00 0.00 0.00 Total PIPE FITTINGS 692.00 2,258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-TEE-06	6" Single Wall Tee	12.00	4.45	53.40
PIPE FITTINGS - Other Total PIPE FITTINGS DO NOT USE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 2,258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-Y-04	4" Single Wall WYE	60.00	2.69	161.40
Total PIPE FITTINGS 692.00 2,258.84 PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	SW-Y-06	6" Single Wall WYE	0.00	3.55	0.00
PIPE FITTINGS - SOLID WALL AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	PIPE FITTINGS - Other	DO NOT USE	0.00	0.00	0.00
AM-CAP-R11-03 3" SDR11 MOLDED END CAP 10.00 3.18 31.80 AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	Total PIPE FITTINGS		692.00	Ī	2,258.84
AM-CAP-R11-04 4" SDR11 MOLDED END CAP 7.00 7.06 49.42 AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	PIPE FITTINGS - SOLID WALL				
AM-CAP-R11-06 6" SDR11 MOLDED END CAP 5.00 18.35 91.75 AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	AM-CAP-R11-03	3" SDR11 MOLDED END CAP	10.00	3.18	3 31.80
AM-CAP-R11-08 8" SDR11 MOLDED END CAP 4.00 27.25 109.00 AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	AM-CAP-R11-04	4" SDR11 MOLDED END CAP	7.00	7.00	49.42
AM-CAP-R11-10 10" SDR11 MOLDED END CAP 1.00 174.42 174.42 AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01		6" SDR11 MOLDED END CAP	5.00	18.35	91.75
AM-CAP-R11-12 12" SDR11 MOLDED END CAP 1.00 182.01 182.01	AM-CAP-R11-08	8" SDR11 MOLDED END CAP	4.00	27.25	109.00
	AM-CAP-R11-10	10" SDR11 MOLDED END CAP	1.00	174.42	2 174.42
AM-EL45-R11-03 3" SDR11 MOLDED 45 DEGREE ELBOW 7.00 8.32 58.24	AM-CAP-R11-12	12" SDR11 MOLDED END CAP	1.00	182.0	182.01
	AM-EL45-R11-03	3" SDR11 MOLDED 45 DEGREE ELBOW	7.00	8.32	2 58.24

United States Bankruptcy Court Northern District of Alabama Northern Division

In re	re Tolplast Company, Inc.		
	Debtor	Chapter	11

(1)	(2)	(3)	(4)	(5)
Name of creditor and complete mailing address including zip code	Name, telephone number and complete mailing address, including zip code, of employee, agent, or department of creditor familiar with claim who may be contacted	Nature of claim (trade debt, bank loan, gov- ernment contract, etc.)	Indicate if claim is contingent, unliquidated, disputed or subject to setoff	Amount of claim [if secured also state value of security]
LaPlace Business Park LLC C/o Patrick McTopy 91 Holly Drive LaPlace LA 70068			UNLIQUIDATED	\$3,600.00
Westech Building Products P O Box 198258 Atlanta GA 30384			UNLIQUIDATED	\$58,613.88
Boreflex Industries P O Box 219241 Kansas City MO 64121			UNLIQUIDATED	\$53,130.00
Florida Concrete Pipe 25750 CR 561 P O Box 435 Astatula FL 34705			UNLIQUIDATED	\$49,188.54
Quality Culvert Inc P O Box 100 Marathon WI 54448-0100			UNLIQUIDATED	\$39,281.68
Homeland Vinyl Product P O Box 170729 Birmingham AL 35217-0729			UNLIQUIDATED	\$20,152.36

in re Tolplast Company, Inc.	5	Case No.	
	Debtor	Chapter	11

LIST OF CREDITORS HOLDING 20 LARGEST UNSECURED CLAIMS

(1)	(2)	(3)	(4)	(5)
Name of creditor and complete mailing address including zip code	Name, telephone number and complete mailing address, including zip code, of employee, agent, or department of creditor familiar with claim who may be contacted	Nature of claim (trade debt, bank loan, gov- ernment contract, etc.)	Indicate if claim is contingent, unliquidated, disputed or subject to setoff	Amount of claim fif secured also state value of security]
United Healthcare Department CH 10151 Palatine IL 60055-0151			UNLIQUIDATED	\$11,122.04
Seasafe inc 209 Glaseer Drive Lafayette LA 70508			UNLIQUIDATED	\$8,367.32
Polymer Industries P O Box 32, Hwy 40 Henagar AL 35978			UNLIQUIDATED	\$7,416.16
Beason & Nalley 101 Monroe Street Huntsville AL 35801			UNLIQUIDATED	\$6,920.00
Southeast Culvert P O Box 999 Auburn GA 30011			UNLIQUIDATED	\$ 6,239.40
Ritmo America LLC 300 Acuff Road Lake Wales FL 33853			UNLIQUIDATED	\$4,700.51

In re	e Tolplast Company, Inc.		Case No.	
		Debtor	Chapter	11

LIST OF CREDITORS HOLDING 20 LARGEST UNSECURED CLAIMS

(1)	(2)	(3)	(4)	(5)
Name of creditor and complete mailing address including zip code	Name, telephone number and complete mailing address, including zip code, of employee, agent, or department of creditor familiar with claim who may be contacted	Nature of claim (trade debt, bank loan, gov- ernment contract, etc.)	Indicate if claim is contingent, unliquidated, disputed or subject to setoff	Amount of claim [if secured also state value of security]
Agru America 500 Garrison Road Gerogetown SC 29440			UNLIQUIDATED	\$3,621.74
J-M Manufacturing Co Inc P O Box 1067 Charlotte NC 28201-1067			UNLIQUIDATED	\$3,452.50
Zenith Insurance Co 4415 Collections Center Drive Chicago IL 60693			UNLIQUIDATED	\$3,186.00
Protective Life Insurance Co P O Box 2224 Birmingham AL 35246-0030			UNLIQUIDATED	\$3,120.00
Fusibond Piping Systems 2615 West Curtiss Dower's Grove IL 60515			UNLIQUIDATED	\$2,510.00
Landscape Architect 14771 Plaza Drive, Suite M Tustin CA 92780			UNLIQUIDATED	\$2,300.00

in re Tolplast Company, Inc.			Case No.	
		Debtor	Chapter	11

LIST OF CREDITORS HOLDING 20 LARGEST UNSECURED CLAIMS

(1)

Name of creditor and complete mailing address including zip code (2)

Name, telephone number and complete mailing address, including zip code, of employee, agent, or department of creditor familiar with claim who may be contacted

(3)

Nature of claim (trade debt, bank loan, government contract, etc.) (4)

Indicate if claim is contingent, unliquidated, disputed or subject to setoff (5)

Amount of claim [if secured also state value of security]

Turner Supply P O Box 1428 Mobile AL 36633

UNLIQUIDATED

\$2,279.18

DECLARATION UNDER PENALTY OF PERJURY ON BEHALF OF A CORPORATION OR PARTNERSHIP

	 Dominic C. Tolomei, President of the Corporation named as the debtor in this case, declare under penalty of perjury that I have read the foregoing lis and that it is true and correct to the best of my information and belief. 						
Date:	06/23/2010	Signature:	/s/ Dominic C. Tolomei				
			Dominic C. Tolomei ,President				
			(Print Name and Title)				

Penalty for making a false statement or concealing property. Fine of up to \$500,000 or imprisonment for up to 5 years or both. 18 U.S.C §§ 152 and 3571.